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Question Number : 1 Question Id : 59445940397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

UTS,  ,MLK, IHG
Options :
1. ® NOP
2. % POQ
3. % PQR
4. % QPO

Question Number : 1 Question Id : 59445940397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad s1&R §aan ¥ Jud Ug Jrd e

UTS,  ,MLK, IHG
Options :
1. ¥ NOP
2. % POQ
3. * PQR
4. ¥ QPO

Question Number : 2 Question Id : 59445940398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Kennel
2. Kerala
3. Kernel
4. Kettle

5. Ketone

Options :

1. % 12345
2.9 12354
3. % 21354
4. % 14325

Question Number : 2 Question Id : 59445940398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T Usal P ST HH H TafRUd R SE FAH I TeH H B B

1. Kennel
2. Kerala




3. Kernel
4. Kettle
5. Ketone

Options :

1. % 12345
2.9 12354
3. % 21354
4. % 14325

Question Number : 3 Question Id : 59445940399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % POLICE : OPILEC
2. % FAMILY : AFIMYL
3. ¥ OFFICE : FOIFCE

4. % SCHOOL : CSOHLO

Question Number : 3 Question Id : 59445940399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # POLICE : OPILEC

2. ®# FAMILY : AFIMYL

3. % OFFICE : FOIFCE

4. % SCHOOL : CSOHLO

Question Number : 4 Question Id : 59445940400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ BDF:YWU
2. # PRTKIG
3. ¥ GHLLUVW
4. % SVY:HEB

Question Number : 4 Question Id : 59445940400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ BDF:YWU

2. # PRTKIG

3. % GHI.UVW

4. ® SVY:HEB

Question Number : 5 Question Id : 59445940401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question .

Attack : Defend :: ?
Options :

1. # Love : Care

2. % Humane : Cruel

3. % Attractive : Appealing
4. % Help : Assist

Question Number : 5 Question Id : 59445940401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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HIhHUT : dd1d :: ?
Options :

1. % UH . IRA1g

2. ¢ G : P

3. % 3MHY®: RTHYH
4. ® Haq : Yerddl

Question Number : 6 Question Id : 59445940402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term

If PKD : RKB :: ZIS : ??
Options :
1. % JPT
2. % GID
3. ¥ BIQ
4. % SNL

Question Number : 6 Question Id : 59445940402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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gfg PKD : RKB :: ZIS : 22
Options :
1. % JPT
2. % GID
3. ¥ BIQ



4. % SNL

Question Number : 7 Question Id : 59445940403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, 'tor lop pot' means "twinkle are stars", "lop rat din" means "galaxies and stars", and "tor tam rat" means "galaxies are vast", then
what will be the code of "vast"?

Options :
1. ® tor
2. % lop
3. % rat

4. ¥ tam

Question Number : 7 Question Id : 59445940403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh GG AR ﬁ, 'tor lop pot' T 3 Qf% "twinkle are stars", "lop rat din" PT 3 Qf% "galaxies and stars", 3‘ﬁ? "tor tam rat" b 3 Qf% "galaxies are
vast", dl "vast" G %I'Q CARK ] B-)ITIT ?

Options :

1. # tor

2. % lop

3. # rat

4, % tam

Question Number : 8 Question Id : 59445940404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if BOXING is coded as GBNOIX, how will be BUTTON coded?
Options :

1. * TNOUBT

2. % TUTNOB

3. ¥ NBOUTT



4. % NOUTTB

Question Number : 8 Question Id : 59445940404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f3d Hie YT H, afd BOXING &I GBNOIX & =0 & Hifsd fa1 71 5, A BUTTON &I 5l HifSd fam Sam
Options :

1. ¥ TNOUBT

2. % TUTNOB

3. ¥ NBOUTT

4. ¥ NOUTTB

Question Number : 9 Question Id : 59445940405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Bank of Maharashtra has an opening for the position of Bank Manager in its Pune branch. The candidate must

1. Be a postgraduate in any discipline with 70 per cent marks.

2. Be between 25 and 40 years old as on 03/04/2021.

3. Must have experience of over 2 years as an Assistant Manager in a bank.
4. Must be fluent in English and the regional language of the state.

The following exceptions apply:
A. If a candidate meets all other criteria except 4 above, the candidate will be referred to the Manager.
B. A candidate whose age is more than 40 years but has scored above 85 per cent marks in post graduate will be referred to the regional manager.

Amit is working as an Assistant Manager at IDBI Bank for 3 years now. He was born on 5/02/1985. He has completed his MBA in the year 2015
with 90% marks. He speaks English, Hindi and Marathi fluently.

What decision should be taken about this candidate?

Options :

1. ¥ The candidate should be selected.

2. # The candidate should be rejected.

3. # The candidate should be referred to the Manager.

4. # The candidate should be referred to the regional Manager.



Question Number : 9 Question Id : 59445940405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ IMHIGIR BT I {1 ST g T

2. % IWIGAR B 3dHd HR faa1 ST A1g |

3. % IHICAR I UdY®d Pl eiid BT ST 2T |

4. % JWCIR & HETUSYPH P Teiid fobaT ST el

Question Number : 10 Question Id : 59445940406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Imran is the son of Kunal. Surbhi, Kunal's sister, has a son Mohan and daughter Sneha. Subham is the maternal uncle of Sneha. How is Imran
related to Mohan?

Options :
1. % Brother
2. ®* Father

3. % Maternal uncle's son



4. % Maternal uncle

Question Number : 10 Question Id : 59445940406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR HUNE BT Y § | HUNH B g, TR BT T3 T 3R Tt VT g1 YHH Wl &1 AT g | SR Higd ¥ v Jafdd 72
Options :

1% g

2. % fUar

3. ¥ HHI DT YA

4, % HMHI

Question Number : 11 Question Id : 59445940407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been followed by two assumptions numbered I and II. You have to decide which of the assumption is implicit.

Statement: "I cannot contact you on mobile from Sundarbans"- Hriday said to Subham.
Assumptions:

I. Mobile network is not available in Sundarbans.
II. Nowadays it's difficult to contact over mobile.

Options :

1. ¥ Only I is implicit

2. * Only II is implicit

3. % Both I and II are implicit

4. # None is implicit

Question Number : 11 Question Id : 59445940407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YUY T, TP YT & d1S &l YRUME [ 3R 11 31 718 ] | 3ATUD! T8 T BT 8 [ i It eron fAfga g1




Y g - YUA § Dgl-H Yer§ F AT W S0 HUh el IR Fhell” |
YRUMU:

. Yera § AR d Aedd Juds el g

I1. ATIHd HiaTsd IR YD H-1 IR d ¢ |
Options :

1. ¥ Haq a8

2. % Haquffeds

3. % [3RISH AR 8

4. % B3 FAfgd e 8

Question Number : 12 Question Id : 59445940408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the
statements are true, analyse the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements.

Statement I: Some cats are mouse.
Statement 1I: Some mouse are birds.
Statement I1I: Some birds are dogs.

Conclusion I: Some cats are dogs.
Conclusion II: Some cats being dogs is a possibility.

Options :

1. ¥ Only I follows

2. % Only II follows

3. % Both I and II follows
4. % Neither I nor II follows

Question Number : 12 Question Id : 59445940408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had | IR0 FRAT §

2. ¢ Had I 3IERU HRT §

3. % [ 3R II G AR a’d §

4. % 1 3R TE I SR BT §

Question Number : 13 Question Id : 59445940409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term

16:225::20:7?
Options :
1. # 353
2. % 442
3. % 361
4, % 297

Question Number : 13 Question Id : 59445940409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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16:225::20:7

Options :
1. % 353




2. % 442
3. ¥ 361
4. = 297

Question Number : 14 Question Id : 59445940410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % 227
2. % 443
3. % 659
4.+ 813

Question Number : 14 Question Id : 59445940410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. = 227

2. % 443

3. * 659

4. ¥ 813

Question Number : 15 Question Id : 59445940411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number which is present in all the three figures.



Options :
1. %2
2. % 8
3.%3
4. ¥ 0

Question Number : 15 Question Id : 59445940411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %2



2. %8
3.%3
4.0

Question Number : 16 Question Id : 59445940412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following Venn diagram shows the number of students who took three different subjects in a school.
Find the total number of students who took only one subject.

Biology Science

Options :
1. ® 110
2. % 50
3.4100
4. % 75

Question Number : 16 Question Id : 59445940412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 110
2. %50
3.4 100
4, % 75

Question Number : 17 Question Id : 59445940413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure will continue the same series as established by the five question figures?

A B C D E
Options :

1. ¢




Question Number : 17 Question Id : 59445940413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # I o9 T ST sefa ui uy snefaal gRT Rfid It saam &I okt @it

A B C D E
Options :

1. ¢




Question Number : 18 Question Id : 59445940414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the pair similar to the pair in the question figure.

a.

I I
Options :




b= | T
wﬂg
o
?P

Question Number : 18 Question Id : 59445940414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 19 Question Id : 59445940415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is embedded?

Options :

2.¢




Question Number : 19 Question Id : 59445940415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

2.¢




Question Number : 20 Question Id : 59445940416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the total number of triangles in the figure.

Options :
1. % 21
2. %20
3.9 23
4. % 24

Question Number : 20 Question Id : 59445940416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 21
2. %20
3.9 23
4. % 24
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Question Number : 21 Question Id : 59445940417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Brahmotsavam is a nine day long festival celebrated in which of the following states?
Options :

1. ¥ Andhra Pradesh

2. % Kerala

3. ¥ Maharashtra

4. % Tamil Nadu

Question Number : 21 Question Id : 59445940417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sellcgan Fafafaa & T foog T & 79 Si9 aren = fa &1 iR 82
Options :

1. 3y TR

2. % d

3. % HeRIY

4. % qHA g

Question Number : 22 Question Id : 59445940418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following dance forms describes the events in the life of the great Maratha ruler, Shri Chhatrapati Shivaji Maharaj?
Options :

1. % Dhangari



2. ®* Koli
3. ¥ Povadas

4. % Tamasha

Question Number : 22 Question Id : 59445940418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafed o ¥ 1 91 T He™ WR161 I, H sufd Rar 7R & Sia @t gearsh &1 qul a1 g?
Options :

1. % gaRy

2. % Prail

3. ¢ Ul

4, % qHIRM

Question Number : 23 Question Id : 59445940419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The head-office of Deposit Insurance and Credit Guarantee Corporation (DICGC) is located in
Options :

1. # Kolkata

2. % Mumbai

3. % Bangalore

4. ¥ New Delhi

Question Number : 23 Question Id : 59445940419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STHT ST 3R BT MRS T 1 g wrafed #fRE gl
Options :

1. % BIcipIdl

2. ¢ Gag



3. % SAR
4. % =% faeh

Question Number : 24 Question Id : 59445940420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, crore has been allocated to further consolidate the financial capacity of Public Sector Banks.
Options :

1. ¥ Rs 20,000

2. % Rs 25,000

3. * Rs 35,000

4. % Rs 30,000

Question Number : 24 Question Id : 59445940420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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|

Options :

1. ¥ 20,000 ¥4UQ

2. % 25,000%UC¢

3. % 35,000 ¥UQ

4. % 30,000 ¥UU

Question Number : 25 Question Id : 59445940421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not an example of contact forces?
Options :

1. #* Frictional

2. % Spring

3. ¥ Muscular



4. ¥ Magnetic

Question Number : 25 Question Id : 59445940421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9 SH WU 9! BT I&T6R0I ol 82
Options :

1. % gyuTHD

Question Number : 26 Question Id : 59445940422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAufeRed & Q &9 91 S1elAc 3R g2

Options :

Question Number : 26 Question Id : 59445940422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is a carbonate ore?
Options :

1. # Bauxite

2. ¥ Siderite

3. # Galena

4. % Fluorspar



Question Number : 27 Question Id
Orientation : Vertical

: 59445940423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is a west flowing river?

Options :

1. ¥ Mahanadi
2. # Godavari
3. ¥ Tapti

4. # Krishna

Question Number : 27 Question Id
Orientation : Vertical

: 59445940423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

fFafefad # 3 &1 Uiy Bt iR 98 drell 7dl 82

Options :
1. % g
2. % Terad
3. TG
4, % pu

Question Number : 28 Question Id
Orientation : Vertical

: 59445940424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Kalsubai is the highest mountain peak of which of the following states?

Options :

1. ¥ Maharashtra
2. # Kerala

3. % Assam

4. ¥ West Bengal

Question Number : 28 Question Id

: 59445940424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Hogars FEied § 3 5 o0 B a8 St udd At 82
Options :

1. ¢ HERTY

2. % P

3. ®# AYH

4. % GiYY SIS

Question Number : 29 Question Id : 59445940425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following issued a coin of silver called Rupiah?
Options :

1. % Jahangir

2. % Shah Jahan

3. ¥ Sher Shah

4. % Akbar

Question Number : 29 Question Id : 59445940425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SERIR

2. % g W51

3. ¥ R ®

4. % Hha

Question Number : 30 Question Id : 59445940426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
When was the Treaty of Bassein signed?
Options :
1. # 1816
2. % 1802
3. % 1829
4. % 1851

Question Number : 30 Question Id : 59445940426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR 1 Y IR g1ER e fhy U A
Options :
1. # 1816
2. % 1802
3. % 1829
4, % 1851

Question Number : 31 Question Id : 59445940427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor Generals withdrew the 'Doctrine of Lapse'?
Options :

1. % Lord Lytton

2. % Lord Elgin

3. # Lord Mayo

4. % Lord Canning

Question Number : 31 Question Id : 59445940427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad A T fog AeRSIUTE 3 OWTd &1 g aruy o o™




Options :

1. % dls fored
2. % die Ufe™
3. % QS B/l
4.« QIS BT

Question Number : 32 Question Id : 59445940428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following won the Oscars 2021 for 'International Feature Film'?
Options :

1. % The Man Who Sold His Skin

2. % Collective

3. % Better Days

4. ¥ Another Round

Question Number : 32 Question Id : 59445940428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed & 9 fa- 13RIy Bier e & fog sifey 2021 Siidr
Options :

1. % U9 g Uics few fep

2. ® olfded

3. % 98

4. ¥ IFWIIS

Question Number : 33 Question Id : 59445940429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Straight from the Heart' is an autobiography of which of the following sports person?
Options :



1. ¥ Kapil Dev
2. % Sania Mirza
3. % Yuvraj Singh
4. % Mary Kom

Question Number : 33 Question Id : 59445940429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Wi T a1 Ffied A Q e R 3 oo 2
Options :

1. ¥ BiUdca

2. % i firet

3. % gl g

4. % A B

Question Number : 34 Question Id : 59445940430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Petroleum and Natural Gas Minister has flagged off the first supply of Used Cooking Oil-based (UCO) Biodiesel blended Diesel in
on 4th May 2021.

Options :

1. # Gujarat

2. ¥ Mabharashtra
3. % Delhi

4. ¥ West Bengal

Question Number : 34 Question Id : 59445940430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mﬁmﬁﬂﬁsﬁhﬁzozlﬁ T g8 PihT TIA-ATUIRA (UCO) IS IoTd FHfSd Siotd &1 ggal Syfd &l
ié@lél

Options :




1. ® ToRId
2. % TERIY
3. ¢ oot
4. % Uigy Sd

Question Number : 35 Question Id : 59445940431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Union Cabinet on May 12, 2021, approved to the proposal of the Department of Heavy Industry for Implementation of
Production Linked Incentive Scheme ‘National Programme on Advanced Chemistry Cell (ACC) Battery Storage’.
Options :

1. * Rs 21,500 crores
2. % Rs 22,300 crores
3. # Rs 19,400 crores
4. ¥ Rs 18,100 crores

Question Number : 35 Question Id : 59445940431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Halg HEHEE A 12 78, 2021 DI IAGT I Jo! TS Aroi1 'FeAd I faH Fef (ACC) o HSRU R AP HRIHH & ST &
foIQ &S SNT faUTT & Uard &1 &t TSRt

Options :

1. % 21,500 HRS SUY

2. % 22300 PRIS ¥UT

3. % 19,400 PRIS ¥UT

4. ¥ 18,100 HRS SUY

Question Number : 36 Question Id : 59445940432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Education Minister of launched Auro Scholarship Programme of Sri Aurobindo Society in May 2021.
Options :



1. # Sikkim

2. % Tripura

3. # Meghalaya
4. ¥ Nagaland

Question Number : 36 Question Id : 59445940432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& Rrem Tt A 1L 2021 T SIRY THIRRT T 3t &t SRS Tt o TBamd |
Options :
1. % fufded
2. ¢ QR
3. % HYUe™
4. % 9IS

Question Number : 37 Question Id : 59445940433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

14th Constitutional Amendment incorporated into the Indian Union Territory.
Options :

1. # Daman and Diu

2. # Andaman and Nicobar Islands

3. % Lakshadweep

4. ¥ Pondicherry

Question Number : 37 Question Id : 59445940433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
149 et FRne A BT URA g AR Te= H =mfire fasan|
Options :

1. % g9 3R dIg



2. % IUEHAMF 3R PR gogg
3. % d&gu
4. TSR

Question Number : 38 Question Id : 59445940434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states has the highest number of representatives in the Lok Sabha?
Options :

1. ¥ Uttar Pradesh

2. % Maharashtra

3. ¥ West Bengal

4. % Bihar

Question Number : 38 Question Id : 59445940434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad o 9 food v 8 iy & a9 31t ufaffd g
Options :

1. ¢ IR U

2. % HeRIY

3. ® Ui ST

4. % f98R

Question Number : 39 Question Id : 59445940435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indiawon  gold medals in the 2021 Al Ain World Shooting Para Sport tournament.
Options :

1.2

2.%3



3.% 4
4. %5

Question Number : 39 Question Id : 59445940435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A 2021 3@ U ace PRI W gafde d W0 ugs S|
Options :

1.¥2

2.% 3

3.% 4

4. %5

Question Number : 40 Question Id : 59445940436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following tennis players won the Madrid Open Women's Singles Title 20217
Options :

1. # Ashleigh Barty

2. ¥ Aryna Sabalenka

3. # Naomi Osaka

4. # Petra Kvitova

Question Number : 40 Question Id : 59445940436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea oo Raarfsal # ¥ foram afae situs Afgar tewa faame 2021 Sitar
Options :

1. % g &t

2. ¢ WA el

3. % T13NHT 1B



4. % U1 fodar
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Question Number : 41 Question Id : 59445940437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 43.889506 x 10"7?



Options :

1. ¥ 438895060
2. % 438895906
3. % 43889589.6
4. % 4388958.96

Question Number : 41 Question Id : 59445940437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
43.889506 x 10~7 ST A T 57
Options :

1. ¥ 438895060

2. * 438895906

3. ¥ 43889589.6

4. % 4388958.96

Question Number : 42 Question Id : 59445940438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person had Rs 600 and he plans to spend 1/4 of it on books. He wants to spend 1/2 of the remaining amount on food and save the rest. What is
the difference in the amount that he saves and the amount he spends?

Options :

1. ¥ Rs 150
2. % Rs 375
3. % Rs 500
4. % Rs 400

Question Number : 42 Question Id : 59445940438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Al & TN 600 FUT & 3R 8 SUBT 1/4 U GAD! TR TG B B! Aot a1 3871 & | a8 AW AT BT 1/2 HIT HISH TR T FHAT
TR ¢ 3R WY P AT IS 8 | ITP GRT TaTs 718 AT 3R ITb gRI W P T3 AR H foamr 3fav 72




Options :

1. ¥ 150 >UJUQ
2. % 375%00
3. % 500 >0
4. % 400U

Question Number : 43 Question Id : 59445940439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bill amount is Rs 1000. The dealer offers the buyer with two options either to get a 20% discount or get two consecutive discounts of 15%
and 10%. What is the difference in the final amounts under both options?

Options :

1. ¥ Rs 50
2. % Rs25
3. ¥ Rs 35
4. % Rs 40

Question Number : 43 Question Id : 59445940439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa AR 1000 FUT B | fashar TR P! < fadhed U a1 § 1A 20% Fe T BIAT AT 15% 3R 10% B HIHD &l T U HAT| Al
famedl o ded Sifom Rl & & sfaR 52

Options :

1. % 50>

2. % 25%0U0

3. 35%0U

4. % 40%7U7

Question Number : 44 Question Id : 59445940440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A student scored 50 in his first test. He got 10% more marks in the second test than in the first test. In the third test he got 20% more marks than



the second test. What is the sum total of the marks that the students gets in these 3 tests?
Options :
1. % 181
2.¥ 171
3. % 191
4. % 161

Question Number : 44 Question Id : 59445940440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP S A 3O Ugel Uten & 50 3 g1RIa [T | ST gurl uien H ugell uied &t gamin § 10% 31fdh 3 Ui fpu | diest wilen & 39
G UNE ¥ 20% 3 3ich et | 1 3 Tiamsii § Sl &l UItd fef 3ichi o1 a1 o g2

Options :

1. # 181

2.9 171

3. % 191

4. % 161

Question Number : 45 Question Id : 59445940441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sales of a showroom in 2019 was Rs 100,000. In 2020, the sales have declined by 20%. However the price per unit of product has increased
by 25%. What is the revenue reported by the showroom in 2020?

Options :

1. ®* Rs 110000
2. % Rs 100000
3. * Rs 168000
4. % Rs 90000

Question Number : 45 Question Id : 59445940441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2019 ¥ T [ F fah1 1,00,000 BT 21 2020 H, fosht T 20% & fRTaC 311 B 1 gTeiifh ITG ! Ul 3PbTs Jod U 25% &1 gfs §3 o
2020 ¥ XY GRT IdTS Ts 3T favai g7

Options :

1. % 110000 ®UUq
2. % 100000 >4JUQ
3. # 168000 >UU
4. % 90000 >UJUq

Question Number : 46 Question Id : 59445940442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sells two pens; one at a loss of 20% and one at a profit of 20%. What is the total profit/loss for the seller if the sales price of the pen is Rs 600?
Options :

1. ¥ Rs-50

2. % Rs 50

3. ¥ Rs 100

4, % Rs-100

Question Number : 46 Question Id : 59445940442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A T HTH STd1 5; TH BT 20% BI 81 TR SR TH DI 20% P AT W 99dT 5| TG HAH B [9ehd e 600 I &, Al [aohar & fow oa
ATH/BT T 82

Options :

1. ¥ -502>UU¢

2. % 50%4Ug

3. % 100%4UQ

4. % -100 >4V

Question Number : 47 Question Id : 59445940443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A producer produces a product at Rs 100. He sells it to a wholesaler at a premium of 20%. The wholesaler then repackages the product and sells
it further to a retailer at 30% premium. The retailer lists the product at 100% premium and gives a discount of 50%. What is the final price paid
by a consumer purchasing the product?

Options :

1. ¥ Rs 156
2. % Rs 312
3. % Rs 120
4. ¥ Rs 240

Question Number : 47 Question Id : 59445940443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fRHTaT 100 FUT H IATE BT ITe HRdl 8| 98 38 Ul ATIRT BT 20% & NFHTH R s9a1 21 b Ui ATURY IATE Bl SIaRT U
TR § AR U GaxT [qohdl B 30% WEH IR d9dT 8 | GaxT fAshdl IdTE B 100% FEH R qHiag ddl § 3R 50% B ge ol g
TG WG arel SUHeRTT gRT YT fovam T Sifad Heg 1 82

Options :

1. ¥ 156 U
2. % 312%U¢
3. % 120®UU
4. % 240U

Question Number : 48 Question Id : 59445940444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bag has a mix of 10 rupee notes, 50 rupee notes and 100 rupee notes. The total value of money is less than Rs 600 and the ratio of 10 rupee, 50
rupee and 100 rupee note is 5:2:4. What is the total value of 50 rupee notes?

Options :

1. ¥ Rs 100
2. % Rs 200
3. % Rs 50
4. % Rs 150



Question Number : 48 Question Id : 59445940444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 4 T 10 UU & Hle, 50 TUU P e 3R 100 SUL & el BT Y01 81 T &1 Hd o 600 TYT I HH § 3R 10 FUT, 50 $UY 3R 100
FUT & A1 BT U 5:2:4 81 50 FUY & AIC BT Hd A T 82

Options :

1. ¢ 100 3UY

2. % 200 3UQ

3. % 50 %U¢

4. % 150 30T

Question Number : 49 Question Id : 59445940445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of cement is Rs 1000/kg and that of sand is Rs 100/kg. If a mixture of 10 kg is to be made in a proportion of 3:7 using cement and sand
respectively, what is the total cost?

Options :

1. ¥ Rs 3700
2. % Rs 7300
3. % Rs 5500
4. * Rs 3000

Question Number : 49 Question Id : 59445940445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B ANTT 1000 ¥TUkg 3R T DI ARG 100 T /kg § |1 TG 10 kg BT YT HH: 3.7 & U & AHe 3R e HT SUAN dRdb
ST S §, o S ARTd 9T )2

Options :

1. ¥ 3700 ¥UU

2. % 7300 30U

3. % 5500 %4y




4. % 3000 ®UU

Question Number : 50 Question Id : 59445940446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person wants to have Rs 12,100 by the end of two years. He has Rs 10,000 with him. At what rate, compounded annually, should he invest to
achieve this?

Options :
1. ¥ 10%
2. % 10.50%
3. % 11%
4. * 9.50%

Question Number : 50 Question Id : 59445940446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fdd 1 a8 & 3fd d 12,100 TUT ST 8 | 3P U 10,000 FUT & | Y A P! U 3 & fole 39 a1 ashdfg W, fbg R R
BERESGIENITHY

Options :

1. ¢ 10%

2. % 10.50%

3. % 11%

4. % 9.50%

Question Number : 51 Question Id : 59445940447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount of Rs 1000 invested at a certain rate under simple interest has doubled itself in 5 years. What will be the additional amount of interest
earned in the next 7 years, if the amount is invested in the same scheme?

Options :
1. ¥ Rs 1400
2. % Rs 2400



3. #* Rs 400
4. * Rs 800

Question Number : 51 Question Id : 59445940447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST & dgd Mid &R W A= &1 78 1000 TUT B AR 5 a6 H SHT 81712 7 | afe i &) It de & o fosan sran g,
3Tl 7 ANt 7 SifSTa =TT &t SHfafaa iy @ gt

Options :

1. ¥ 1400 ¥UUQ
2. % 2400 %4
3. % 400 %47
4. % 800 vUUl

Question Number : 52 Question Id : 59445940448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a train 500 metre long passes a platform 200 metre long in 10 seconds, what is the speed of the train in metres per second?
Options :

1. * 50 m/sec

2. % 70 m/sec

3. * 20 m/sec

4. % 60 m/sec

Question Number : 52 Question Id : 59445940448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 500 Hiex ot YETST 200 Hiex T WekhiH B 10 b H UR B! 7, d Hie Ufd Y H YS! &1 T1fd 1 82
Options :

1. * 50 m/sec

2. % 70 m/sec



3. % 20 m/sec

4. % 60 m/sec

Question Number : 53 Question Id : 59445940449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car runs for 30 mins at 50 kmph, 20 minutes at 60 kmph and 10 minutes at 120 kmph. What is the average speed of the car (in kmph) during
the journey?

Options :

1. ® 55 km/h
2. % 60 km/h
3. ¥ 65 km/h
4. % 70 km/h

Question Number : 53 Question Id : 59445940449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BR 50 kmph P 1A T 30 e, 60 kmph & 71 F 20 fFE 3R 120 kmph B 13 10 e & T =@t 8 1 a0 & SRA HR &1
3 a7 (kmph H) T 82

Options :

1. # 55 km/h

2. % 60 km/h

3. ¥ 65 km/h

4. % 70 km/h

Question Number : 54 Question Id : 59445940450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a piece of work alone in 10 days. B can do the same piece of work alone in 20 days and C can do the work alone in 20 days. If A, B and
C work together on the same piece of work, in how many days will they complete the work?

Options :
1. # 10 days



2. % 4 days
3. % 5 days
4. % 12 days

Question Number : 54 Question Id : 59445940450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TH B BT b 10 G H B Gpar g1 B I BRI &l 31 20 fal 7 - Tohar § 3R ¢ 3 3 &1 &l 20 el A R Iopar g
e A, B 3R ¢ 1Y FAaHR 981 &1 & $Hd &, A1 3 39 B/ & fooa= 31 § 1 3

Options :

1. % j0feT
2. % 4feF
3. ¢ s5fea
4. % 12faT

Question Number : 55 Question Id : 59445940451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is twice as fast as B in doing a piece of work. If A can do the work in 60 days, how many days will it take A and B to do the work together?
Options :

1. # 30 days

2. ¥ 40 days

3. % 35 days

4. % 45 days

Question Number : 55 Question Id : 59445940451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATHE P B IRA T B A I 81 S A IT B BT 60 fodl F FR Ipa &, A 3R B B! e 39 1 &l A | e g aie
Options :

1. % 30faT



2. ¢ 40 e
3. % 35f29
4. % 45129

Question Number : 56 Question Id : 59445940452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a sphere with a radius of 21cm is melted to form a cone whose radius is 2cm, what is the height, in cm, of the resulting cone?
Options :

1. # 441 cm

2. % 9261 cm

3. % 4600 cm

4. % 21 cm

Question Number : 56 Question Id : 59445940452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 21 cm BT & a1 FUgeeR T WP ST S fo1e! B4 2 em §, 6 IROmH 2 Bt SHams cm & 1 RT?
Options :

1. # 441 cm

2.9 9261 cm

3. % 4600 cm

4. % 21 cm

Question Number : 57 Question Id : 59445940453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe dad e?l?a@ﬁﬁw 14 cm U JHMA %I &)dl‘gﬂ-ﬂ48 cmtl?ﬂtﬂtf%l ﬁ@@ﬁﬁ%%t{gﬂﬁm(gq cmﬁb%@aw &iﬁ?%‘?
Options :

1. % 2024 sq. cm

2. % 2124 sq. cm




3. % 1924 sq. cm
4. % 2224 sq.cm

Question Number : 57 Question Id : 59445940453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of a cylinder and a cone is the same at 14 cm. The height is also same at 48 cm. What is the difference between the curved surface
area (in sq. cm) of both the figures?

Options :

1. ¥ 2024 sq. cm
2. % 2124 sq. cm
3. % 1924 sq. cm
4. % 2224 sq.cm

Question Number : 58 Question Id : 59445940454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the wages received by each person. In the following table, what is the difference between the highest and the lowest
cumulative wage received by anyone?

Year
. 2018 2015 2020
Archit 100 150 175
Babli 150 150 220
Chetan 220 100 250
Daksh 300 175 150
Eshwar 280 190 175
Falguni 170 185 285
Options :
1. ¥ Rs 220
2. % Rs 225

3. # Rs 245



4. % Rs 185

Question Number : 58 Question Id : 59445940454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad i e fad gRT T Aoigst &1 gl 8 | Fufeiad drfereT &, forsht safad gRT U S=ad SR -gqH Sodt dd &
o9 1 3R B2

s CL]
2018 2019 2020
fa 100 150 175
CER) 150 150 220
A 220 100 250
Q& 300 175 150
EL T 280 190 175
ETAL 170 185 285
Options :
1.+ 220>0U¢
2. % 225%4U
3. % 245%4U7
4. # 185%4U

Question Number : 59 Question Id : 59445940455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the highest profit for any of the 3 companies in any of the 3 years?



EA BB mC
% 20 20 30 80
g 3: ] &0 i 15 = ke &0
S 80 4 s0 50
2 50 - a0
g ::: ] 35 5 35 | 3%
5 & mzu
B 10 S
g 2018 2019 2020 2018 2019 2020
& Revenue Cost
Years
Options :
1. ¥ Rs35
2. ¥ Rs20
3. ¥ Rs 15
4. ¥ Rs 60

Question Number : 59 Question Id : 59445940455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 gt § F foddt it o & 3 ufal 7 3 faddt v &1 9e9 eifdie Ty R g

EAEBBEC

30 80 ]
70 0

cBEEEEREEE
&

TToTE Y T W (FUE H)




2. % 20300
3. % 15%0UT
4. ¥ 60300

Question Number : 60 Question Id : 59445940456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows how much rainfall each city received over the years. Using this, answer in how many years did Mumbai receive less
rainfall than Delhi but more than Kolkata?

B Kolkata ® Delhi = Mumbai

140 -

120 - 110 115

100 g - = = o 95
- 67

80
B0 - 45
a0
20
)

Rainfall received (in mm)

2016 2017 20138 2013 2020
City and Year

Options :
1. %0
2.¥ 1
3. %2
4. %3

Question Number : 60 Question Id : 59445940456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591857
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 59445940457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Beside the chickens, we have several/ other additions to the family; two calves,/ a colt, and a penful of funny little pigs.
Options :

1. ¥ Beside the chickens, we have several

2. % other additions to the family; two calves,

3. #* acolt, and a penful of funny little pigs.

4. # No Error

Question Number : 61 Question Id : 59445940457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Beside the chickens, we have several/ other additions to the family; two calves,/ a colt, and a penful of funny little pigs.
Options :

1. ¥ Beside the chickens, we have several

2. # other additions to the family; two calves,

3. % a colt, and a penful of funny little pigs.

4. * No Error



Question Number : 62 Question Id : 59445940458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

To the Liberals, then and afterwards/ it was clearly a hypocritic/ conspiracy against freedom.
Options :

1. # To the Liberals, then and afterwards

2. ¥ it was clearly a hypocritic

3. % conspiracy against freedom.

4. ¥ No Error

Question Number : 62 Question Id : 59445940458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

To the Liberals, then and afterwards/ it was clearly a hypocritic/ conspiracy against freedom.
Options :

1. #* To the Liberals, then and afterwards

2. % it was clearly a hypocritic

3. # conspiracy against freedom.

4. % No Error

Question Number : 63 Question Id : 59445940459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Without another word, he turned (the horse and kicked it into a trotter in the opposite direction).



Options :

1. ¥ the horse and kicked it into a trot in the opposite direction

2. # the horse and kicked it into the trotter in the opposite direction
3. # the horse and kicked it over a trot in the opposite direction

4. ® No correction required

Question Number : 63 Question Id : 59445940459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Without another word, he turned (the horse and kicked it into a trotter in the opposite direction).
Options :

1. ¥ the horse and kicked it into a trot in the opposite direction

2. # the horse and kicked it into the trotter in the opposite direction

3. # the horse and kicked it over a trot in the opposite direction

4. # No correction required

Question Number : 64 Question Id : 59445940460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The famous men of who I told you) in this story are commonly called the Seven Wise Men of Greece.
Options :

1. #® The famous men of who I have told you

2. % The famous men of whom I have told you

3. # The famous men of who I tell you

4. ® No correction required

Question Number : 64 Question Id : 59445940460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(The famous men of who I told you) in this story are commonly called the Seven Wise Men of Greece.
Options :

1. # The famous men of who I have told you

2. % The famous men of whom I have told you

3. # The famous men of who I tell you

4. # No correction required

Question Number : 65 Question Id : 59445940461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Farmers today sometimes still on these ideas after a few drinks down pub.

Options :

1. ¥ ruminate

2. # indiscriminate
3. % extortionate

4. % stimulate

Question Number : 65 Question Id : 59445940461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

Farmers today sometimes still on these ideas after a few drinks down pub.

Options :
1. % ruminate

2. % indiscriminate



3. # extortionate

4. % stimulate

Question Number : 66 Question Id : 59445940462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

King Frost lives in a beautiful palace far to the North, in the land of SNOW.

Options :

1. # contextual
2. # conceptual
3. % conflictual

4. ¥ perpetual

Question Number : 66 Question Id : 59445940462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

King Frost lives in a beautiful palace far to the North, in the land of SNOw.

Options :

1. # contextual
2. # conceptual
3. # conflictual

4. ¥ perpetual

Question Number : 67 Question Id : 59445940463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.



Harvard University possesses the title of America’s oldest learning institution, founded in 1636.

P. At its inception, this university’s name was “New College,” and its purpose was mainly to educate clergy.
Q. In 1639, the school’s name became Harvard University, so named for the Rev. John Harvard.

R. This significant bequest led the school to honour him by taking his name.

S. Harvard bequeathed half of his estate and his entire library to the school upon his death.

Currently, Harvard University enrols 17,000 students in regular enrolment and another 30,000 students in non-degree courses.
Options :

1. ®* PSRQ

2. ®* PSQR

3. ¥ PQRS

4. ¥ PQSR

Question Number : 67 Question Id : 59445940463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Harvard University possesses the title of America’s oldest learning institution, founded in 1636.

P. At its inception, this university’s name was “New College,” and its purpose was mainly to educate clergy.
Q. In 1639, the school’s name became Harvard University, so named for the Rev. John Harvard.

R. This significant bequest led the school to honour him by taking his name.

S. Harvard bequeathed half of his estate and his entire library to the school upon his death.

Currently, Harvard University enrols 17,000 students in regular enrolment and another 30,000 students in non-degree courses.
Options :

1. ®* PSRQ

2. * PSQR



3. # PQRS
4. v PQSR

Question Number : 68 Question Id : 59445940464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Rife

Options :

1. * Endemic
2. % Immanent
3. % Scarce

4. % Bursting

Question Number : 68 Question Id : 59445940464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Rife

Options :

1. # Endemic

2. ¥ Immanent
3. % Scarce

4. % Bursting

Question Number : 69 Question Id : 59445940465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Provoke



Options :

1. ¥ Deter

2. % Inspire

3. % Exasperate
4. # Agitate

Question Number : 69 Question Id : 59445940465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Provoke
Options :

1. ¥ Deter

2. # Inspire

3. % Exasperate
4. ¥ Agitate

Question Number : 70 Question Id : 59445940466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Presumptious

2. # Presumptuious

3. % Presuptious

4. ¥ Presumptuous

Question Number : 70 Question Id : 59445940466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.



Options :

1. # Presumptious
2. # Presumptuious
3. % Presuptious

4. ¥ Presumptuous

Question Number : 71 Question Id : 59445940467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Gulibble

2. % Gullible

3. % Gulible

4. % Gullibal

Question Number : 71 Question Id : 59445940467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Gulibble

2. ¥ Gullible

3. # Gulible

4. % Gullibal

Question Number : 72 Question Id : 59445940468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

In the bag



Options :

1. # Raise controversy

2. ¥ To have something secured

3. # Under firm control, well managed

4. ¥ Uncomfortable or worried in a situation

Question Number : 72 Question Id : 59445940468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

In the bag

Options :

1. # Raise controversy

2. % To have something secured

3. ® Under firm control, well managed

4. ¥ Uncomfortable or worried in a situation

Question Number : 73 Question Id : 59445940469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Call a spade a spade

Options :

1. # unclearly stated and indefinite
2. # By any means

3. # Alone, without assistance

4. ¥ Straight talks

Question Number : 73 Question Id : 59445940469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom

Call a spade a spade

Options :

1. # unclearly stated and indefinite
2. # By any means

3. ® Alone, without assistance

4. + Straight talks

Question Number : 74 Question Id : 59445940470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Impossible to defeat or discourage
Options :

1. # Hegemony

2. % Substantive

3. # Insurmountable

4. ¥ Indomitable

Question Number : 74 Question Id : 59445940470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Impossible to defeat or discourage
Options :

1. ¥ Hegemony

2. # Substantive

3. % Insurmountable

4. ¥ Indomitable



Question Number : 75 Question Id : 59445940471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Having a strong and unpleasant smell or taste front no longer being fresh
Options :

1. # Sagacious

2. % Rancid

3. #* Otiose

4. % Luscious

Question Number : 75 Question Id : 59445940471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Having a strong and unpleasant smell or taste front no longer being fresh
Options :

1. * Sagacious

2. % Rancid

3. * Otiose

4. % Luscious

Sub-Section Number : 2
Sub-Section Id : 5944591858
Question Shuffling Allowed : Yes

Question Id : 59445940472 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

If you plan on going to Hawaii, don't bring any pets. Hawaiians are wary of letting in foreign animals. Your beloved Rex or Fi-fi could spend up



to 120 days in quarantine. They have strict rules for importing animals. They carefully screen all incoming pets. Who could blame them? They've
had problems with new animals in the past.

The black rat was introduced to Hawaii in the 1780s. These ugly suckers originated in Asia, but they migrated to Europe in the 1st century. Since
then, they've snuck on European ships and voyaged the world with them. These rats carry many diseases including the plague. They are also
good at surviving and tend to displace native species. That means that after they infest an area, there will be fewer birds and more black rats.
Most people prefer living around birds.

Since their arrival in Hawaii, black rats have been pests. They've feasted on sea turtle eggs. They've eaten tree saplings, preventing trees from
being reforested. And they've been a leading cause in the extinction of more than 70 species of Hawaiian birds. They love to climb trees to eat
bird eggs. They also compete with forest birds for food, such as snails, insects, and seeds.

Perhaps more troubling, black rats threaten humans. They spread germs and incubate disease. They are a vector for more than 40 deadly illnesses.
Some think that rat-borne diseases have killed more people than war in the last 1,000 years. Rats also eat our food. They eat more than 20% of
the world's farmed food.

Sub questions

Question Number : 76 Question Id : 59445940473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the passage imply what 'Roxi and Fifi' are?
Options :

1. # Animals

2. ¥ Pets

3. % Illegal animals

4. % Humans

Question Number : 77 Question Id : 59445940474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the first black rat population started showing up in the Hawaii?
Options :

1. ¥ 1780

2. % 1775

3. % 1791

4. % 1783



Question Number : 78 Question Id : 59445940475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is considered to be the leading cause of decline in the population of birds in Hawaii?
Options :

1. ¥ Humans

2. % Indigenous reptiles

3. ¥ Black rat

4. ® Habitat decline

Question Number : 79 Question Id : 59445940476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. #® Hawaiians have strict laws about importing animals.

2. % Black rat originated in Asia and migrated to Europe and from there spread across the world.

3. % Some rat-borne diseases have killed more people than any human waged war in the last 1000 years.

4. ® Black rats have been the leading cause of extinction of more than 70 species of Hawaiian birds.

Question Number : 80 Question Id : 59445940477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percentage of world's farmed food do rats eat?
Options :

1. % 30%

2. % 25%

3. % 40%

4. % 20%

Question Id : 59445940472 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

If you plan on going to Hawaii, don't bring any pets. Hawaiians are wary of letting in foreign animals. Your beloved Rex or Fi-fi could spend up
to 120 days in quarantine. They have strict rules for importing animals. They carefully screen all incoming pets. Who could blame them? They've
had problems with new animals in the past.

The black rat was introduced to Hawaii in the 1780s. These ugly suckers originated in Asia, but they migrated to Europe in the 1st century. Since
then, they've snuck on European ships and voyaged the world with them. These rats carry many diseases including the plague. They are also
good at surviving and tend to displace native species. That means that after they infest an area, there will be fewer birds and more black rats.
Most people prefer living around birds.

Since their arrival in Hawaii, black rats have been pests. They've feasted on sea turtle eggs. They've eaten tree saplings, preventing trees from
being reforested. And they've been a leading cause in the extinction of more than 70 species of Hawaiian birds. They love to climb trees to eat
bird eggs. They also compete with forest birds for food, such as snails, insects, and seeds.

Perhaps more troubling, black rats threaten humans. They spread germs and incubate disease. They are a vector for more than 40 deadly illnesses.
Some think that rat-borne diseases have killed more people than war in the last 1,000 years. Rats also eat our food. They eat more than 20% of
the world's farmed food.

Sub questions

Question Number : 76 Question Id : 59445940473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the passage imply what 'Roxi and Fifi' are?
Options :

1. * Animals

2. ¥ Pets

3. % Illegal animals

4. % Humans

Question Number : 77 Question Id : 59445940474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the first black rat population started showing up in the Hawaii?



Options :
1. ¥ 1780
2. % 1775
3. % 1791
4. % 1783

Question Number : 78 Question Id : 59445940475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is considered to be the leading cause of decline in the population of birds in Hawaii?
Options :

1. ¥ Humans

2. % Indigenous reptiles

3. ¥ Black rat

4. ® Habitat decline

Question Number : 79 Question Id : 59445940476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # Hawaiians have strict laws about importing animals.

2. # Black rat originated in Asia and migrated to Europe and from there spread across the world.

3. ¥ Some rat-borne diseases have killed more people than any human waged war in the last 1000 years.

4. % Black rats have been the leading cause of extinction of more than 70 species of Hawaiian birds.

Question Number : 80 Question Id : 59445940477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What percentage of world's farmed food do rats eat?
Options :

1. # 30%



2. % 25%

3. % 40%
4. % 20%
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Question Number : 81 Question Id : 59445940478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % ddel
2. ® Adlel
3. % 9T
4. ¢ g

Question Number : 81 Question Id : 59445940478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fachey &1 9u 3 off fou U Y - fowde s & Ol I 1 fasheu 3 |

dd +3Hel
Options :
1. % ddel
2. % Adlel
3. % g
4. ¢ g

Question Number : 82 Question Id : 59445940479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & 9§ 39 fashe &1 9u 3 off AT U I Weg & el OfY -fawde fasea 7|
T

Options :

1. % Ty +3fH

2. % T+

3.« T 43




4. % T3

Question Number : 82 Question Id : 59445940479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdshey &1 9a &3 off T U Y Weg & el IfY -fawe fdeeu 7|
T

Options :

1. % T 43

2. % TA+3NfH

3.« T 3

4. % T3

Question Number : 83 Question Id : 59445940480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fased &1 70 B3 off SUWT Weg &1 el fabeu 7 |

Options :
1. % g0
2. ¥ dqq
3. % dglhl
4. % YHdDh S

Question Number : 83 Question Id : 59445940480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdeey &1 7u B3 ot SuT Wreg &1 el fapeu 7 |

Options :

1. % e
2. ¥ §aq,




3. ® oslhl
4. % YHahS

Question Number : 84 Question Id : 59445940481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdehey &1 9u 3 off fae 2N 2eq &1 98! fAweu 3 |
Options :

1. ¥ dcd

2. % fRIBR

3. % TS

4. % SAMER

Question Number : 84 Question Id : 59445940481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i i edl & & 39 ey o1 9 Y o fae i Tee &1 9t e g |
Options :

1. ¥ dcd

2. % fRIPR

3. % giTgl

4. % SAMGER

Question Number : 85 Question Id : 59445940482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fadwed &1 99 &3 off AU 77T Vg o1 el yaigare fdsed g |
HqeI0

Options :

1. % o




2. % DD
3. % AN
4. % ST

Question Number : 85 Question Id : 59445940482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol O § 39 fased &1 90 B3 off faU U Xreg &1 Uel yafaar fasea g |
HEIY

Options :

1. % 4t

2. % thedh
3. % AN

4. ¥ XSIT

Question Number : 86 Question Id : 59445940483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e far el § @ I fIhed &1 9= B3 Sl 2T 71U Tea 1 Tt i e 7 |
3D

Options :
1. % Yald
2. ¢ Wifa®
3. % HUDPR
4. % JAfd

Question Number : 86 Question Id : 59445940483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fapeal  q I fahed &1 909 o3 ol faU U Teg BT I faaH T3 T |




1ATHD
Options :

1. * Yald
2. ¢ Hifd®
3. ® HUPR
4. % A

Question Number : 87 Question Id : 59445940484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & I 39 fasey &1 999 o3 o faU 78 areg & ygad faRivor & A &1 fdwea § |
JgdaM 3o IR el gy diar g |

Options :

1. % TS
2. % JEOES®
3. % TUAD

4. ¢ URHATIERIS

Question Number : 87 Question Id : 59445940484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faeredl # O 39 fadwed o1 Tg & o 3T 7T are # vyad fa=ior & 3 &1 faded | |
Ugaa Aol IR fhal gy i} |

Options :

1. % 1S
2. % JHEAESD
3. % UGS

4. ¢ URHUARIS




Question Number : 88 Question Id : 59445940485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fasmedl o 9 39 faded &1 997 &< Sl 3T 7Y Xsg -7 o1 et o aran faweu g |
fata - fafe

Options :

1. ¢ gaTfed ,3arg
2. % @R HIY

3. % qui, §gd

4. % REAMC

Question Number : 88 Question Id : 59445940485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fasedl @ 39 fadey &1 9 B O faT TTU Weg; -G &1 el 31 arell fabed g |
fafd - fafe

Options :

1. ¢ gaTXfed ,3uarg
2. % R HIY

3. % guf, 9gd

4. ® R

Question Number : 89 Question Id : 59445940486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & Q 39 fawe &1 999 o3 o AT 778 are & forw &1a & U &1 I8! faweu 3 |
g8 MU a1 H O |
Options :

1. % 3(qul gfHE &1a




2. % GUIT UfdwIq HTad
3. % G Ydbrd
4. ¥ BdeqHGHIdE BT

Question Number : 89 Question Id : 59445940486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal § O 39 Aoy o1 794 &3 o fou 7N are & fo &1a & We &1 Ug! fadseu g |

dg U O |
Options :

1. % 3quf gaHH H1a
2. % GUIT Hid=Iq HTad
3. % U YdbTd

4. ¢ gdeqHeHId™ BTd

Question Number : 90 Question Id : 59445940487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawrey &1 999 3 off AT 78 a9 & forg 1a & U &1 Ie! faweu 3 |

U W ST G § |
Options :

1. # 3(qul gHHSIA

2. % gUf MDA

3. ¢ TIPS TAHHA

4. % JYTY IdHMDTA

Question Number : 90 Question Id : 59445940487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal § O 39 faseu o1 794 &3 SN fou TN are & fo &1a & W &1 Ug! faseu g |




T3 AT ST | |
Options :

1. % 3qUi gD

2. % gUf gHMDIA

3. ¢ ATHIID TAHH

4. % JYTT 9d9HRTA

Question Number : 91 Question Id : 59445940488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 faseu &1 90 B3 o AU T8 a1e & o uel & U &1 gl fdweu 3 |
e IR YdR gId & 98 g+ o |

Options :

1. ¢ RVIAH

2. ® YAfRIa®

3. # gdEaiy®
4. % NIAAD

Question Number : 91 Question Id : 59445940488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 faded &1 797 o3 o AT T8 a1gg & forw uel & W o1 Tal e 7 |
9IS IR ¥dR BId 81 98 HieH & |

Options :

1. ¢ RAdD

2. % TIfdEd®

3. % Hadeiy®
4. ® INAAD




Question Number : 92 Question Id : 59445940489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & q 39 farey &1 999 o3 o AT 7T dipifad o1 Tat o aran fasea 8 |
SIAT ORT T ST ot B HReAT

Options :

]. % 3MGd IR TdgR Bl

2. ¢ ST FGER qH TR 1Y FHRI, o1 81 H TR 1Y H&T |
3. % SO A

4. % gt {1E! ¥ JUAT G |

Question Number : 92 Question Id : 59445940489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fasey &1 7u= &3 o fou U Aeifad &1 Tat 31 aren fasea 7 |
SIIT SR T ST 3t AR HRAt

Options :

1. % 3Hlqd 31':1,{-”{ {delR x|

2. ¢ ST SIIER qH TR 1Y R, a1 B H TR 1Y BT |
3. % U Al

4. % gt 3@} ¥ JUAT G|

Question Number : 93 Question Id : 59445940490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # 9 39 fadwed o1 T & il 3T T gerar o1 Ugh o arel fawed € |

TaPhgdArd gl
Options :
1. % GO Al




2. % U IS
3. % g gl
4. IUBR G

Question Number : 93 Question Id : 59445940490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl 8 ¥ 39 fasmed &1 9a- &< il fAT 70 gerar &1 wg! orf arel fdwed § |

THDHEATE Bl
Options :

1. % GO HAl

2. % g ISMT
3. % g gl
4. ¢ 3UDHR HHAT

Question Number : 94 Question Id : 59445940491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o 9 39 faded &1 9= & Sl TR fovg gadd a1ed &1 9el faeed § |
Options :

1. % X HET TR Tg BT HT 8! )

2. % IR PHEl- "I g BT T g1 &l

3. ¥ YRR BT, "Tre g HAT MU gl )"

4, % YR BT "qle Tg AT MU 8! gdl|"

Question Number : 94 Question Id : 59445940491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 faweal & § 39 fawed &1 79+ &3 o TR e gad a1 &1 Wg! fadeu § |

Options :




1. % QR BB "R T8 BT AHT el "
2. % YR DHel- "qhe T HIAT MU el ol
3. ¢ IR A DHEl, "qre I8 BT AMHT a1 <al)”
4, % YR BT "qle Tg AT MU 8! gdl|”

Question Number : 95 Question Id : 59445940492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 79+ &3 o TR g gad a1 &1 Wg! fadeu § |
Options :

1% et A g3 4,3 3d, PIIPR AT |

2. % 3MTeRl kT 818 & | § 4d | I YR A &

3. % SR AT 3 ST ST P JPR AT G |

4. S ARG TIT 134T | B IBR AMA G |

Question Number : 95 Question Id : 59445940492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl # O 39 fadwed o1 9g & o TR g Yo a1 &1 W8t faweu 7 |
Options :

1. % el Al 818 4, 8 o, B YR M & |

2. % AN AT G B ST 1 8 <9 | B YHR A &

3. % RN KT G 8 4d | § 4 Bl IPR A G |

4. ¢ HARN ARIE T LT T33! DI IPR A & |

Sub-Section Number : 2
Sub-Section Id : 5944591860
Question Shuffling Allowed : Yes

Question Id : 59445940493 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)



e fau TTU TR B YA U IR U@ Y U T qarad SR g |

AR ity Hd 387 § SR AT STH arel B Ht g 81 S vl g | 3R aal & HId § S1d 3l hadT UTg off Yl & | o
DU DI ST IR A Ryet (R urit wife areft T o IR-ER 3-8 9, Higd IR D1 [TS Ue ¥ fagqe 39 W = sifasd g1 S
FAT 6 | ST R R 3R IR-TR 31T 1 IRYA 3R IFT Il 6+ U T et iR TS-gf THS I ara aAfad off $& dxa
I §9 Gohdl ¢ | ThadT iR Rifs &1 W< & Tl g | 89K faaR & a3 3o Siiaq & 3gydl & IR-d@ & 70 H g1 39 a8 &I a1
el g | THART 0T o Iy B i HfAd ra iR faeaR adur srua-Ris €1 81

Sub questions

Question Number : 96 Question Id : 59445940494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT Y UTS, off [t § 2
Options :

1. % 3R I B HA W

2. ¥ $B A IRAWR

3. ¢ Gl & H1Y T BId Slhdh
4. % IR DI IWNIME IR

Question Number : 97 Question Id : 59445940495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% o 3R TSgfa $4 I o Tl g 2
Options :

1. % TR B R

2. % gUAY 96+ IR

3. % PHATHA R

4. ¢ PRI TR IR URHA PA Y

Question Number : 98 Question Id : 59445940496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR BT UATIATE] eg TS 2



Options :
1. % 3T
2.9 4YH
3. %
4. % g

Question Number : 99 Question Id : 59445940497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
egfa o1 f g 2

Options :

1. *® gfgaH

2. % RRYfG

3.¢ "

4. % dIclb

Question Number : 100 Question Id : 59445940498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G o foTu Iuger Tiues ifvrd |
Options :

o

1. ¢ A B AN o STSHT B ol
2. % URYH B HE

3. % SSgiw

4. % YR H & dRIb

Question Id : 59445940493 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

i feu 7TU e Y earYdes Ug SR U TN Ut T garaH SR I |
AR e SR T8 I 318 HMHT o Tl pri i Ry 81 ST a1 8 | R adl & HIY § hId 3Ihd b ad] UTs off Gbal g | oIl




$HU DI ST R At Riet (Rramn) urt G areft T/ o dIR-ER 3-8 ¥, SiHd IR D1 [TS Te ¥ faqe 39 W =1 sifesd g1 S
HRAT 8| I ARE FRAR 3R TR-TR 3 1 TR 3R IPT Hd I8 W T Hoed 3R STS-gfg THE o aren dfad off 8 H
g 99 Thdl § | Thadl 3R Rifs &1 =i &R Iadr g1 gAR faaR § &fd 3 /0 Sfias & 3Hdl & 9R-dd & &9 § 81 39 kg &I a1d
Pel 31 gART 30T Wi fayr & 5 i wia iR faR gdut spua R 1 21

Sub questions

Question Number : 96 Question Id : 59445940494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATl bl Ul S |l § 2
Options :

1. % 3R Y B HHA WR

2. % P A DA W

3. ¢ B! &b HIY H BId Slbehy
4. % GIRI DI IR R

Question Number : 97 Question Id : 59445940495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS (aed 3R Tegfa HY g 95 Tl g 2
Options :

1. % 3fTerl §H W

2. % gUAM 964 IR

3. % BH AT AR

4. ¢ FRRNTE IR IR IRYABA I

Question Number : 98 Question Id : 59445940496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RS BT GITFaT Wea RATE 2
Options :

1. *= A



2. yg
3. % e
4. % Uy

Question Number : 99 Question Id : 59445940497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
egfa o f g 2

Options :

1. *® gfgaH

2. % RRYfG

3.¢ "

4. % 9D

Question Number : 100 Question Id : 59445940498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G & o Sugad i i |

Options :

1. ¢ A B AN o STSHT B ol
2. % URYH B HE

3. % Vg
4. % UR G b Rl
Disciplinel
Group Number : 6
Group Id : 594459872
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 5944591597

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944591861

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 59445940499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every part of the cognitive process from sensation to memory is supported by basic processes taking place in the brain and nervous
system.

Options :

1. # Bio-chemical
2. ¥ Electrochemical
3. # physical

4. % chemical

Question Number : 101 Question Id : 59445940499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T ¥ WA dh SIS UiohdT &1 Ydd U ARTSD 3R dfAeT o 8 g aret g-arg! gfsharsfi gRT galid g |
Options :

1. #® SgIae

2. ¢ [aggd IS

3. % IRIND

4. % IS

Question Number : 102 Question Id : 59445940500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which principle of information processing says that there is a two way flow of information as we try to make sense of the world around us?
Options :

1. # first principle

2. # second principle

3. % third principle

4. # fourth principle

Question Number : 102 Question Id : 59445940500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YRR BT B 1 RIGId Hedl & o ofd 81 S0 SIUT $1 g1 &1 T BT YA & & o) a1 BT <laRWl YaTg gl 82
Options :

1. % gga Ryeid

2. % G Rygid

3. ¢ AR Rigid

4. % Iy Rigid

Question Number : 103 Question Id : 59445940501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many levels are there in bloom's taxonomy that comes under hierarchy?



Options :

1. # first three level
2. # first two level

3. # first five level

4. ¥ first four level

Question Number : 103 Question Id : 59445940501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&H aftfb! & fhd= TR UGIIHH & Siavid 31Td 82
Options :

1. % Ugl o TR

2. % UgA & &R

3. % Ugd Ui TR

4. ¥ Ugd IR &R

Question Number : 104 Question Id : 59445940502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PET Scan stands for?

Options :

1. ¢ Positron Emission Tomography

2. % Position Emission Tomography

3. # Positron Emission Topography

4. % Positron Electric Tomography

Question Number : 104 Question Id : 59445940502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PET b1 &1 YU U0 &1 87

Options :



1. ¢ Uioiier TR St
2. % TIoNRH THRM SR
3. % UIoIei- TRRM SRS
4. % NS Saifaee CHRITR

Question Number : 105 Question Id : 59445940503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
can involve either the inability to learn new things or a loss of previous knowledge, or both.
Options :
1. # Epilepsy
2. ¥ Amnesia
3. # Schizophrenia
4. % Alzheimer

Question Number : 105 Question Id : 59445940503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fardr 78 I diem & srmdar a1 fred 39 &) g1, a1 gt =fird 81 9 B
Options :
1. % HAUHR
2. ¢ iy
3. % gAfdgaar
4, % AHcOSHR

Question Number : 106 Question Id : 59445940504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which diagram is also known as angular diagram?
Options :

1. % Bar Diagram



2. # Sub-divided Bar Diagram
3. % Multiple Bar Diagram
4. ¥ Pie Diagram

Question Number : 106 Question Id : 59445940504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 3G B! BV 3RW & AH J 1} ST A1l 52
Options :

1. % R 3RY

2. % JU-fAHTISTT OR 3@

3. % TS TR 3R

4. UTS 3G

Question Number : 107 Question Id : 59445940505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
test is a non-parametric test that is used for testing whether two independent samples differ in one of the central tendencies
Options :
1. # Sign
2. # Chi square
3. % Mann-Whitney U
4. ¥ Median

Question Number : 107 Question Id : 59445940505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

; wRteror IR-Uraferes TRieror § forgest SuainT a8 uleror dA o et fasan wira § fos o <) Xads T § § Ue St vafy B i
I

Options :

1. % gohd



2. % Hs-g faarur
3. % gH-fgeii g
4. ¢ HIITHT

Question Number : 108 Question Id : 59445940506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which method of class formation the classes are so formed that the upper limit of one class does not become the lower limit of the next class?
Options :

1. # Exclusive Method

2. ¥ Inclusive Method

3. % True Method

4. # Actual class method

Question Number : 108 Question Id : 59445940506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Bt [ AU & a7 3 THR F §91T 14 & fob U ol bt SR ATAT ST aFf bt et ST =7e it 82
Options :

1. % UdgRId HYS

2. ¢ SRR HYS

3. % THYS

4. % UF3{ FY HYS

Question Number : 109 Question Id : 59445940507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
scale deals with classified data such as for example the population divided into males and females.
Options :
1. % Nominal
2. # Ordinal



3. * Interval
4. % Ratio

Question Number : 109 Question Id : 59445940507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A= Fefferd SeT ¥ Heiferd § O IaTerl 3 fare SHee gen ofR afgersit & fauiford g1
Options :
1. ¢ SIS
2. % 3fif$d
3. % 3R
4. % 3qUrd

Question Number : 110 Question Id : 59445940508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In who's famous heuristic formula, behaviour can be viewed as a function of the person and the environment, B = f (P, E)?
Options :

1. # Albert Bandura

2. % Thomas Hobbes

3. % Kurt Lewin

4. ¥ Wilhelm Wundt

Question Number : 110 Question Id : 59445940508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreTor UG SITAT! Y3 H, S9d8R & dfad 3R JaiaR0l & &1 & &Y § ¢&T ol ¥dhdl g, B = f (P, E)?
Options :

]. % 3fcdc S

2. % IHY glsH

3. ¥ % dfdd




4. % fde que

Question Number : 111 Question Id : 59445940509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who proposed that psychology consists of two parts: physiological psychology and people’s psychology?
Options :

1. ¥ Wilhelm Wundt

2. % Kurt Lewin

3. % Albert Bandura

4. % Moritz Lazarus

Question Number : 111 Question Id : 59445940509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fepe gt feba fob HeAtfer # < W Bl ©: WRife Hfas SR STl o1 A2
Options :

1. ¢ fasga que

2. % o dfoq

3. % 3feqC Il

4. % AR oRY

Question Number : 112 Question Id : 59445940510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which traits serve to organise the impression and provide a framework for interpreting information that is received subsequently?
Options :

1. # Surface

2. % Source

3. % Cardinal

4. ¥ Central



Question Number : 112 Question Id : 59445940510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T TEIUT YHTF ] TARIT B 3R 1 H U SITHBRI &1 TRSAT B & ol TURAT UG B BT B Hd 82
Options :

1. # Ydg

2. % Iid

3. # Pifead

4. ¥ Hag

Question Number : 113 Question Id : 59445940511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are schemas that organise a group of personality traits into a meaningful personality type.
Options :
1. # Primary effect
2. ¥ Prototypes
3. % Recency effect

4. % Covariation

Question Number : 113 Question Id : 59445940511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W1 & S Afaried el b JHg B Jrfep SAfcdcd YR H afRyd Bl B
Options :
1. % Urfieh gHTa
2. ¢ Iy
3. % [ g
4, % JgUIART[



Question Number : 114 Question Id : 59445940512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which factor of attribution is an internal and unstable factor over which the learner can exercise a great deal of control?
Options :

1. # Ability

2. # Luck

3. ¥ Effort

4. % Task difficulty

Question Number : 114 Question Id : 59445940512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3RIYYT FHT B AT HFRB AR R HRR HRe § ford W Rremdf sifies = 7a gawar g2
Options :

1. % &HdT

2. % HIg

3. U

4. % BRI BT

Question Number : 115 Question Id : 59445940513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first president of American Psychological Association?
Options :

1. % Wilhelm Wundt

2. % Johannes Muller

3. ¥ William James

4. ¥ Granville Stanley Hall

Question Number : 115 Question Id : 59445940513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SR TSP IAoTh e THIRIIRIA BT UGl & DI UT?
Options :

1. % fdegu que

2. ¥ g gerk

3. % fafergw o

4. YAfad LA gIa

Question Number : 116 Question Id : 59445940514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the first formal laboratory for research in psychology at the University of Leipzig founded by Wilhelm Wundt?
Options :

1. * 1978

2. % 1897

3. % 1987

4. ¥ 1879

Question Number : 116 Question Id : 59445940514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg o o faeew que g1 citufer fayfaemer # Fifa & ergem & fog ugel Siu=mies TRINT=ITa RAfUd 31 71 &
Options :

1. % 1978

2. % 1897

3. % 1987

4.+ 1879

Question Number : 117 Question Id : 59445940515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an early view of psychology suggesting that the field should focus on identifying the basic structures of human mind.




Options :

1. # Functionalism
2. ¥ Structuralism
3. # Behaviourism

4. % Evolution

Question Number : 117 Question Id : 59445940515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT T TR =fPHI0r § S GA1d <ol & 6 & &Y Hi-d 17 1 giaTd Temai &1 Uga &R WR &1 o1 91T
Options :

1. % ThauHferRA
2. ¢ IRIAEAIG
3. % IgRAIG
4. % HH-[APT

Question Number : 118 Question Id : 59445940516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who described how electric signals were conducted by nerves within the body?
Options :

1. % Rene Descartes

2. % Johannes Muller

3. ¥ Wilhelm Wundt

4. % Gustav Fechner

Question Number : 118 Question Id : 59445940516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem TRR & iR deTsil gR1 faggd Tard! &1 e &y [T SITdT §, S9! qui- faham

Options :




1. % ¥ <A
2. ¢ ST GeR
3. % faegu que
4. % T IR

Question Number : 119 Question Id : 59445940517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who showed how receptors in the eye and ears receive and interpret sensations from the outside world?
Options :

1. # Albert Bandura

2. % Kurt Lewin

3. % Hermann von Helmholtz

4. % Gustav Fechner

Question Number : 119 Question Id : 59445940517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem T foama fr 31ig 3R &9 H U1 a1e<t giam ¥ Wae1sil dl ol UItd &vd & SR SIReATdd xd /2
Options :

1. % 3cEC S

2. % P dfad

3. ¥ BXH i geHBIee

4. % TG R

Question Number : 120 Question Id : 59445940518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many chromosomes does the Zygote has ?
Options :

1. ¥ 46



2. % 23
3. % 32
4. % 64

Question Number : 120 Question Id : 59445940518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § fobae ORE 81 82

Options :

1. ¥ 46

2. % 23

3. % 32

4. % 64
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Question Number : 121 Question Id : 59445940519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which stage in Jean Piaget's cognitive development lasts from 7-11 years?
Options :

1. % Formal operational stage

2. ® Pre-operational Stage

3. ¥ Concrete operational stage

4. % Sensory motor stage

Question Number : 121 Question Id : 59445940519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il WSl O TP (a1 BT DI Ul TR 7-11 TN b el 52
Options :

1. % 3 AichaTHD HaAT

2. % U4-ichaTeHd ST

3. ¢ T Ah AT AT

4. % Hdfgep U SR

Question Number : 122 Question Id : 59445940520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which reflex action of fetus leads to ingestion of a thick, green, tar-like substance, known as



Options :

1. # Vernix caseosa
2. # Lanugo

3. # Amniotic fluid

4. % Meconium

Question Number : 122 Question Id : 59445940520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 Bt I W ufaad fobar A er, 831, eR 9 et &1 siqifgu Al g, ol EaJESICIN
Options :

1. % Gqg paNT

2. % S

3. % TEHISNeD RigS
4. ¢ AHIATY

Question Number : 123 Question Id : 59445940521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
normally occurs while the ovum is in the fallopian tube.
Options :
1. ¥ Fertilisation
2. % Lumen
3. % Serosa

4. % Rectum

Question Number : 123 Question Id : 59445940521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I d9 BT § o fog el & giar 8|

Options :




1. ¢ N
2. % U

3. % YT
4. % HAT

Question Number : 124 Question Id : 59445940522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the method that studies the developmental changes simultaneously by testing individuals of different ages.
Options :

1. * Longitudinal Method

2. ¥ Cross-section Method

3. # Sequential Method

4. % Time lag Method

Question Number : 124 Question Id : 59445940522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fafd &1 91 I o7 fafis 3y & afakaa! o1 URIert] FHrab U W1 [AamTed gRad-i &1 3ed ol g2
Options :

1. % Srjeed fafy

2. ¢ IY-YaR fafey

3. % (bt fafY

4. % Uy Aa_rd fafy

Question Number : 125 Question Id : 59445940523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which force of Life Span Development reflects differences in how the same event affects people of different ages?
Options :

1. # Biological forces



2. # Psychological forces
3. % Socio-cultural forces

4. ¥ Life cycle forces

Question Number : 125 Question Id : 59445940523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofieH o1 faeT &1 B I 97 T 3R g2ia & 7 T € g1 fafiid omg & antl &) 8 guifad st 82
Options :

1. % Sfaw aa

2. % TGS 9d

3. % HHISTh-Hipidd g

4. ¢ Sfla Ieh 9

Question Number : 126 Question Id : 59445940524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the type of interview that often uses open-ended questions, asks for more explanation and elaboration on the part of the client.
Options :

1. # Non-formal

2. # Formal

3. % Structured

4. ¥ Unstructured

Question Number : 126 Question Id : 59445940524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TIETHR & YHR BT 11 T3 o SR Gal U4 (3NT-USS %) BT SUTNT Bl §, FARC DI 3R I 3 WFTHR0T 3R
fas & fore yzar g

Options :

1. % IFUAING




2. % 3NU=RG
3. % Wfd
4. ¢ IR

Question Number : 127 Question Id : 59445940525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of observation allows control of extraneous factors and the reliability of results can be tested by repeating the study?
Options :

1. # Naturalistic

2. ¥ Structured

3. % Unstructured

4. # Participative

Question Number : 127 Question Id : 59445940525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?Huwmﬁwamﬁwwﬁﬁﬁamﬁﬁ&a’qﬁréﬂ%sﬁ?a{wﬁaﬁwmﬁﬁmmqﬁwmww
0

Options :

1. % Uipfddpaiad

2. ¢ IaRkd

3. % RRFIT

4. % FEYIRTAr

Question Number : 128 Question Id : 59445940526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is often used in clinical cases or in situations when lab research or practical is not possible.

Options :
1. ¥ Case studies



2. * Interview method
3. # Observation Method

4. * Formal method

Question Number : 128 Question Id : 59445940526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT YA SR A1 Aral § 3 fufaa & faran Sirar 8 STa TNTRITar S a1 Uriifies Y4 el sl ¢ |

Options :

1. ¢ HY I

2. % HaThR fafy
3. % 3[qdic a1
4. % 3o fafy

Question Number : 129 Question Id : 59445940527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the following, which type of tests are mainly used for educational and vocational counselling?
Options :

1. # Intelligent test

2. % Personality test

3. % Attitude Test

4. ¢ Interest Test

Question Number : 129 Question Id : 59445940527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & I fd THR & TRi&0 487 T ¥ Qe iR ATGHIRIS RTHR] & fo1T ITANT it o 62
Options :

1. % gfg wiem

2. % fdkicd URET



3. % Jffighy wWiem
4. ¢ B TRAe00

Question Number : 130 Question Id : 59445940528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DAT stands for ?

Options :

1. # Different Attitude Test

2. # Dialect Aptitude Test

3. % Differential Aptitude Test

4. ® Different Aptitude Test

Question Number : 130 Question Id : 59445940528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DAT &1 g0 YU 1 82

Options :

1. % fSic Udicyg ¢

2. % SRIAA THIRE ¢

3. ¢ [SHIRYA wicys ¢

4. % femic WWaE ¢

Question Number : 131 Question Id : 59445940529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which scales are frequently used by companies for marketing to determine individual (and group) preferences for brands, or items'?
Options :

1. # Personality

2. ¥ Attitude

3. # Aptitude



4. % Interest

Question Number : 131 Question Id : 59445940529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sts, a1 gt & fore aufadTrd (3iR Tg) asiaanstt & uffRd e & e dufal gRT SRR &1 T THE! &1 IudiT fohar ST 82
Options :

1. % Hfqid

2.« S

3. % 3ffHardr

4. % Bfg

Question Number : 132 Question Id : 59445940530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which skills helps the counsellor to focus on the significant issues like identifying gaps in the information and draw out the relevant information?
Options :

1. # Interpersonal

2. % Analytical

3. # Intrapersonal

4. % Emotional stability

Question Number : 132 Question Id : 59445940530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T HIRA IRHERIGIT DI LT H SR B UgdH B R TRIRTH THBR] b ol Hedqul Jg| IR & dhisd B § 7Gq
AT 87

Options :

1. % 3Fddiadd

2. ¢ {a=AYUITEHS

3. % Sfqdgfaad




4, % UGS R

Question Number : 133 Question Id : 59445940531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IQ is calculated by dividing the mental age by chronological age and multiplied by
Options :

1. %10

2. % 1000

3. % 50

4.+ 100

Question Number : 133 Question Id : 59445940531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1Q 1 TUMT HFRIS 311 B BIATIh M TG ¥ faHIioTd Hb iR 3 T[0T b P el g
Options :

1. %10

2. % 1000

3. % 50

4.+ 100

Question Number : 134 Question Id : 59445940532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among the following, which one is the example of interest inventory?
Options :

1. ¥ Kuder’s Preference Record

2. % Word Association Test

3. # Thematic Apperception Test (TAT)

4. ® Rorschach Inkblot Test



Question Number : 134 Question Id : 59445940532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad & § S 91 <1 H1d-IJE H1 ITER0T 82
Options :

1. ¥ Hex WhY Rable

2. % g8 THRIURH ¢&

3. % Jifed SUUiwH ¢

4. % R SDhedilc Y&

Question Number : 135 Question Id : 59445940533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name an interactions that serve to fulfill some satisfaction of an individual who is a part of the collective and helps to provide a basis for his
interaction with specific members.

Options :

1. # Leadership

2. ¥ Group behaviour
3. ¥ Work stress

4. ¥ Managers

Question Number : 135 Question Id : 59445940533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U 3ict:Foha &7 AT Sarst S 39 Afd &1 $3 TP I IR Il ¢ ol Iifed o SR § SR A1y Tl & Iy It aradid &
foTT 3MYR U&H &3+ H Hag HRdl g |

Options :

1. % 9qd

2. ¢ UG AIGR

3. % B I I

4. % YYD




Question Number : 136 Question Id : 59445940534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of organizations have their focus on empowering local people, involves some kind of skills transfer and require specific educational
or professional qualifications?

Options :

1. # Intercultural

2. % Long term developmental
3. % Conservation

4. % Emergency

Question Number : 136 Question Id : 59445940534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UPR & TS R AT b1 IR S TR S dbiod Bd o, S9H [ dl UHR BT DI STl A BIdT & 3R ARy fdres
g1 TG A1l & SHTTLIHT Biail 82

Options :

1. % SRYRDIdD

2. ¢ dg@TeH [Aeads
3. % RET

4, % HUTADBTCIA

Question Number : 137 Question Id : 59445940535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which approach of organizational behaviour is concerned with all parts of an organization that interact with each other in a complex manner?
Options :

1. # Human Relations

2. # Contingency

3. ® Productivity

4. ¥ Systems



Question Number : 137 Question Id : 59445940535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WSS TAER HI I IT IUNTH, T AT & TH U T T&fd g S U gk & 1Y Sfed delep 9§ SIaid did 82
Options :

1. ® A oy

2. % DBl

3. % Jdlqohdl

4. « YUt

Question Number : 138 Question Id : 59445940536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAGR = f (P, E) 98| E 1 YUi Yo gl
Options :

1. # gIdrarul

2. % qEPfd

3. % guTdl

4. % e

Question Number : 138 Question Id : 59445940536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Behaviour = f (P, E) where E stands for
Options :

1. ¥ Environment
2. % Empathy

3. % Effective

4. % Ethical



Question Number : 139 Question Id : 59445940537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITSIHS TAER & [Hd Alsd & dad, Bddl TTeT & UMGRT 3R BRI HRNGRT &1 UG Ty #3d 82
Options :

1. # Ubhdd

2. % HIRE0T et

3. ¥ YEID

4. % POl

Question Number : 139 Question Id : 59445940537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which model of organizational behaviour, the workers feel a sense of participation and task involvement in the organization?
Options :

1. % Autocratic

2. % Custodial

3. % Supportive

4. # Collegial

Question Number : 140 Question Id : 59445940538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which system, receptors are modified nerve endings of sensory neurons, whose axons run from the point of stimulation towards the spinal
cord?

Options :

1. # Meta-Analysis
2. # Neuroplasticity
3. # Transduction

4. ¥ Somatosensory

Question Number : 140 Question Id : 59445940538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fore dF ¥, SifiTe® Ydawm -qR19 & A=A dwT 3id &, oFdh sierdg SiorT & foig I sy &1 3R o1 82

Options :

1. % Hel-uArarig
2. % IRERERE
3. % URMHU

4. G
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Question Number : 141 Question Id : 59445940539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which tract helps to control distal muscles in the forearm, lower limb, hand, and fingers mainly on the opposite side of the body?
Options :

1. % Corticobulbar tract

2. ¥ Corticospinal tract

3. # Lateral tract

4. # Rubrospinal tract

Question Number : 141 Question Id : 59445940539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 1 T T YRR & fquRid fe=m & sprvmT, fRera i, g1y SR STferdl & aTer Aol &1 Fafd & § Hag sl 82
Options :

1. % HICHIGATR ¢aT

2. ¢ HICHIUAA e

3. % QoA ¢ae

4. % JHOZAA cde

Question Number : 142 Question Id : 59445940540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which zone of the cerebellum receives information from the red nucleus, and returns output to it?
Options :

1. # innermost

2. # medial

3. ¥ intermediate

4, % lateral



Question Number : 142 Question Id : 59445940540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARETH BT DI AT &F AT b5 A Y- U BT 5, 3R 34 3M3CYC Ay Gl 82
Options :

1. ® 3fddH

2. % HYH

3.« Head|

4. % g

Question Number : 143 Question Id : 59445940541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What provides an indirect measure of neural activity, as neuronal firing has an effect on relative concentrations of oxygenated and deoxygenated
blood?

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. PET

2. fMRI

3. BOLD contrast

4. CAT

Question Number : 143 Question Id : 59445940541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁqﬁﬁwgﬁ%@mm&mmw%mﬂ%wmmmwﬁ?&ﬁa%ﬁmr%ﬁméﬁwa&m’@mw
THTT TSl 82

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. PET

2. fMRI

3. dIee HheRe
4. CAT

Question Number : 144 Question Id : 59445940542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIETSH &b &7 H 3 1 Bl g1, Al afcurd 89 4, v W W Eare B SIS
Options :

1. ¥ STARSBRY

2. % dlvH

3. % IRISHRN

4, % AT

Question Number : 144 Question Id : 59445940542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sudden loss of function in a region of the brain connected to, but at a distance from, a damaged area known as
Options :

1. ¥ Diaschisis

2. % Lesion

3. % Neurogenesis

4. ® Ablation

Question Number : 145 Question Id : 59445940543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What involves the administration of a fast-acting barbiturate via the carotid artery to one hemisphere at a time?



Options :

1. # Lesion

2. ¥ Wada Test
3. # Ablation

4. % Neurotransmitters

Question Number : 145 Question Id : 59445940543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fiar ¢t & ATenH ¥ U g B U Mand § dolt ¥ o1 wrd sifdeie & U= & o e 72
Options :

1. % g

2. ¥ TSI ¢

3. % 3T

4. % RICHHICR

Question Number : 146 Question Id : 59445940544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Another name for epistemology in Indian philosophy that suggests various means of ascertaining valid knowledge apart from explanations on
forming valid arguments is

Options :

1. % Tarkasamgraha
2. % jalpa

3. % pramana sastra
4. % vitanda

Question Number : 146 Question Id : 59445940544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

un—cﬁnz%zhﬁawﬂnmar 3 ATH S Y ! & 01 IR WS & 3ralTar 3 T T U T & faftrs e &1 goimd a1 g, a8
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Options :
1. % THYHIG
2. % el
3. ¢ THIUT R
4. % fadq

Question Number : 147 Question Id : 59445940545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following explain that alertness and better understanding of mind can lead people to self-stability?
Options :

1. # Vitanda

2. # Samvada

3. % Mantra

4. ¥ Yogasutra

Question Number : 147 Question Id : 59445940545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofifad & 3 S gamar § {6 17 3 Gaddr 3R JgdR I0 A &Y ST-FRRAT 3 3R 3 S Yavell 82
Options :

1. # fadq

2. % Ydlq

3. % HF

4. QTGA

Question Number : 148 Question Id : 59445940546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the goal of Indian medicinal and yogic traditions?
Options :



1. # Perception
2. % Holism
3. ¥ Healing

4. # Diagnosis

Question Number : 148 Question Id : 59445940546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR aiteda SR AfiTes TRORTSHT 1 Ted o 32
Options :

1. # 3{dIH

2. % Hlhcgdiq

3. ¥ JUARIHD

4. % M

Question Number : 149 Question Id : 59445940547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What creates an aesthetic space between the actor and the spectator and uses that as the channel for the passage of complex meanings represented
with the help of the story?

Options :
1. ¥ Rasa
2. % Bhava
3. # Bhakti
4. ¥ Natya

Question Number : 149 Question Id : 59445940547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P AT 3R TP & o1 igaieTd R T § 3R HaMI DI TgHdl ¥ URdd STied 37l & UIRd 814 & fo1E 99 d & &9 & ST
ST T 82

Options :




1. ¥ 39
2. % 4Ig
3. % Yfad
4. % qred

Question Number : 150 Question Id : 59445940548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Bhagavad Gita identifies meditation with a mind.
Options :

1. ¥ non-reactive

2. # reactive

3. # proactive

4. % repressed

Question Number : 150 Question Id : 59445940548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

rg 1T e &t ugaH EER GRS
Options :

1. ¢ IR ufaferarsiia

2. % yfdfearita

3. % 3y

4. % i

Question Number : 151 Question Id : 59445940549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the brain is involved in the recognition of sensory stimuli and the relay of sensory impulses to the cerebral cortex?
Options :

1. % Hypothalamus



2. % Thalamus
3. % Hippocampus
4. ¥ Amygdala

Question Number : 151 Question Id : 59445940549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AfRTSH BT DI T U Ha! IETH B Uga R JHRTSS dedpe (AN BIca) H Yl Mo & TR & e g2
Options :

1. % YYD

2. ¢ ddb

3. % fewim™

4. % S{PESTC

Question Number : 152 Question Id : 59445940550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which disease is a hereditary disorder of the central nervous system?
Options :

1. # Parkinson's Disease

2. % Cerebral Palsy

3. # Dementia

4. ¥ Huntington's Disease

Question Number : 152 Question Id : 59445940550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 1IN ST DT o BT SIAIb AT 82
Options :

1. % TIfhe AT

2. % YORTSH 3T




3. % AR
4. ¢ g I

Question Number : 153 Question Id : 59445940551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which condition is characterised by lack of blood flow and oxygen to the heart muscle?
Options :

1. # Angina pectoris

2. % Myocardial infarction

3. % Ischemia

4. % Cerebral thrombosis

Question Number : 153 Question Id : 59445940551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B Tl SR, Gad B AU H I TaT8 3R iiaiie & HHT 4 Bidl 52
Options :

1. % Ja:R[d

2. % gaUMdId

3. ¢ R 3R

4, % YIS USRI

Question Number : 154 Question Id : 59445940552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During which stage of group development, interpersonal conflicts arise and differences of opinion about the group and its goals will surface?
Options :

1. % Forming

2. % Storming

3. # Norming



4. # Performing

Question Number : 154 Question Id : 59445940552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I

2. ¢ I

3. % 7T

4. % gz

Question Number : 155 Question Id : 59445940553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is sum of values, beliefs, practices, art and language.

Options :

1. # Health

2. % Culture
3. ® Cognitive

4. % Physiology

Question Number : 155 Question Id : 59445940553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, urume, gutefl, el SR HIN BT AN g |
Options :

1. # WY

2. ¥ HE&pid

3. % UIAATHD

4. % RRfpan faqe



Question Number : 156 Question Id : 59445940554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory states that you compare your attitude, views and beliefs with other person as this is the only way to evaluate that other people agree
with you or not?

Options :

1. % Evolutionary theory

2. % Balance theory

3. ¥ Social comparison theory

4. ® Repulsion theory

Question Number : 156 Question Id : 59445940554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % A fqer Rigid

2. % g Rigia

3. ¢ IR HHRGH TR

4. % Ry AR

Question Number : 157 Question Id : 59445940555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is speed and accuracy of abstract reasoning, especially for novel problems.

Options :

1. # General Intelligence

2. % Crystallised Intelligence
3. ¥ Fluid intelligence

4. % Spelling Ability



Question Number : 157 Question Id : 59445940555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U s

2. % fhtedrsss gefonia
3. ¥ RIS S sciomid

4. % AT &

Question Number : 158 Question Id : 59445940556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Through which type of research investigators study the relationship between cognitive performance and cerebral events and structures?
Options :

1. # Biological

2. % case studies

3. % physiological

4. ¥ psychobiological

Question Number : 158 Question Id : 59445940556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Sfdd

2. % By T

3. % TRIND

4. HIRDISAIAISTDS



Question Number : 159 Question Id : 59445940557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who believed that the role of “satisfaction” is the key to forming associations?
Options :

1. ¥ Edward Lee Thorndike

2. % Albert Bandura

3. # Ivan Pavlov

4. % John B. Watson

Question Number : 159 Question Id : 59445940557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forae O o g 1 YAt Tfd o9 &1 Foil 52
Options :

1. ¢ USdS dl YHSISd

2. % 3feFC agXl

3. % SaM Uradld

4. % S § IIeg

Question Number : 160 Question Id : 59445940558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What indicates that a given set of results would be obtained if only chance factors were in operation?
Options :

1. % Theory

2. ¥ Statistical significance

3. ¥ Data Collection

4. ¥ Data Analysis

Question Number : 160 Question Id : 59445940558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * fagia

2. ¥ HiRHDIY Hgl
3. % ST HUGUl

4. % gey fagdwor
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 59445940559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to John Carroll's model of intelligence, in which stratum there is just a single general intelligence (sometimes called g)?
Options :

1. # Stratum I

2. # Stratum II

3. % Stratum III

4. % Stratum IV

Question Number : 161 Question Id : 59445940559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST BRI & g b AISd &b TR, fhd TR H Fad JuRv §fG gt 8 (B Fwaft-aadt ¢ oft weromar 8)?
Options :

]. % W1

2. % [ 11

3. ¢ K I

4, % LTIV

Question Number : 162 Question Id : 59445940560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which kind of anxiety disorder, the child is unable to speak in a specific social situation?
Options :

1. ¥ Separation anxiety

2. ¥ Selective Mutism

3. % Autism

4. % Attention Deficit Hyperactivity Disorder



Question Number : 162 Question Id : 59445940560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford THR & ia fdeR &, F=1 v fafdry armnfore fRufa 3 siem o s/ gt g2
Options :

1. % YU Wolrgel

2. ¢ Jalfded e

3. % Al

4. % MHIYIG T4 ffafehdd fddR

Question Number : 163 Question Id : 59445940561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pervasive Development Disorder is also known as

Options :

1. ¥ Autism Disorder

2. % Tic Disorder

3. # Learning Disability

4. % Attention Deficit Hyperactivity Disorder

Question Number : 163 Question Id : 59445940561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A [ApT [APR Bl & =uH ff ST S gl
Options :

1. ¢ WAl fawR

2. % few fapR

3. % 3{fAH famdiTdn

4. % FTHIG U4 3ffaafehadt [ddR

Question Number : 164 Question Id : 59445940562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which learning disability is associated with failure of brain to develop in normally asymmetrical manner with respect to the right and left
hemisphere?

Options :

1. # Dysgraphia
2. % Dyscalculia
3. ¥ Dyslexia

4. % Dyspraxia

Question Number : 164 Question Id : 59445940562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fEgonftear

2. % fEHbapiedn

3. ¢ Tzt

4. % gfepa

Question Number : 165 Question Id : 59445940563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a muscular twist or a spasm related to muscle.
Options :
1. # Enuresis
2. % Sleep walking
3. % Encopresis
4. ¥ Tic

Question Number : 165 Question Id : 59445940563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Uefig Ais a1 wrgH @ Gefd ¥sT B
Options :
1. % TR
2. % fRgryHur
3. % TADIURN
4. fe®

Question Number : 166 Question Id : 59445940564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sleep walk is also termed as

Options :

1. ¥ somnambulism
2. # Enuresis

3. % encopresis

4. # tic

Question Number : 166 Question Id : 59445940564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o T 3 NETSICIGI
Options :

1. ¢ Fgrymor

2. % TORRM

3. % TR

4. % fo

Question Number : 167 Question Id : 59445940565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



“The more we see and interact with a person, the more likely he or she is to become our friend or intimate partner.” What is this effect known as?
Options :

1. # Sentiments

2. # Probability

3. ¥ Propinquity

4. % Task difficulty

Question Number : 167 Question Id : 59445940565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YTghal

2. % JYIGAT

3. ¢ Miftpgdl

4. % P HiER

Question Number : 168 Question Id : 59445940566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the power that is based on the ability to create negative outcomes for others, for instance by bullying, intimidating, or otherwise punishing.
Options :

1. % Legitimate power

2. # Referent power

3. % Expert power

4. ¥ Coercive power

Question Number : 168 Question Id : 59445940566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9y Tfaq

2. % fadzy wfda
3. % faxivy wfdd
4. Jfard wfdq

Question Number : 169 Question Id : 59445940567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The change in opinions or behaviour that occurs when we conform to people whom we believe have accurate information is known as

Options :

1. ¥ Information conformity
2. # Normative conformity
3. % Prescriptive conformity

4. ® Regulatory conformity

Question Number : 169 Question Id : 59445940567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. I STEIdT (FTBHRA HbITHCT)
2. % AMG A& (AT HhITH)

3. % Qe Sreuar (Ofha BmIiid)
4. % T9OM® STEUAT (A HhITHe)

Question Number : 170 Question Id : 59445940568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A group process loss that occurs when people do not work as hard in a group as they do when they are alone is known as social
Options :

1. # power

2. # cognition

3. ¥ loafing

4. % task

Question Number : 170 Question Id : 59445940568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % ferd
2. % TIH
3. ¥ ARl
4. % BT

Question Number : 171 Question Id : 59445940569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which therapy has both humanistic and existential aspects?
Options :

1. # Cognitive Therapy

2. % Behavioural Therapy

3. % Psychoanalysis

4. ¥ Gestalt therapy

Question Number : 171 Question Id : 59445940569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



for Fafre & AFaamard! 8iR SRd@R® aHl Ugd 8?
Options :

1. % GYHTESD fiban

2. ® YIERTASD Tafbe

3. % TRl

4. ¢ TeTee Rrgla

Question Number : 172 Question Id : 59445940570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

emphasises a functional analysis of the problematic behaviour or unwanted emotion in terms of antecedents, cognitions,
behaviours, and consequences.

Options :

1. % Problem Solving Therapy

2. % Interpersonal Therapy

3. % Cognitive Behavioural Therapy
4. % Gestalt therapy

Question Number : 172 Question Id : 59445940570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % ga91 fAaror fafear
2. % IFddafade fafeen

O O\

3. « GIMTHD FdgRURD (bl

4. % TeTee Rgla

Question Number : 173 Question Id : 59445940571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which therapy uses the ‘here-and now’ relationship as a vehicle for learning about oneself in relation to other?



Options :

1. # Cognitive behaviour therapy

2. # Time-limited dynamic psychotherapy
3. # Brief relational therapy

4. ¥ Psychodynamic-interpersonal therapy

Question Number : 173 Question Id : 59445940571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YIATHD HdeR fafean

2. % guY-IIfHd TfaRita gifafeen

3. % g JdemRe fofdben

4. ¢ TRHISTAAHG-Sexud—d fafdrer (AR

Question Number : 174 Question Id : 59445940572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who developed an influential approach to time-limited therapy, first termed as radical and later as intensive?
Options :

1. ® Karl Jaspers

2. % David Malan

3. # Peter Sifneos

4. % Habib Davanloo

Question Number : 174 Question Id : 59445940572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % Prdt ooy
2. ¢ Sfds AdM
3. % Tl Rwia
4. % gald Graq]

Question Number : 175 Question Id : 59445940573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Person centered therapy was developed by American psychologist,

Options :

1. ¥ Carl Rogers

2. % Soren Kierkegaard
3. # Friedrich Nietzsche
4. % Karl Jaspers

Question Number : 175 Question Id : 59445940573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ PTdl Ao

2. % GRA fH3fprs

3. % TheRe Il

4. % PIA oI qTH

Question Number : 176 Question Id : 59445940574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the stimuli that is paired with a stimulus that elicits an undesirable response (counter-conditioning).
Options :

1. # Social Stimuli



2. ® Repressed Stimuli
3. % Aversion Stimuli

4. ® Anti-social Stimuli

Question Number : 176 Question Id : 59445940574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % rere fegat

2. % U ey

3. ¢ UaRE el

4. % UA-9Rd Regeft

Question Number : 177 Question Id : 59445940575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does MAVA stands for?

Options :

1. # multiple abstract variance analytics
2. ¥ multiple abstract variance analysis
3. ® multiple abstract variable analysis

4. ® multidimensional abstract variable analytics

Question Number : 177 Question Id : 59445940575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Aeiud USeae aRad TATfeaRd
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3. % AiUd USede aRuad TR
4. % TecleURAd Uskcae dRUed TATefcad

Question Number : 178 Question Id : 59445940576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of personality do individuals have if they are characterised by cooperative, unassertive and patient and suppress their negative
emotions and show compliance to authority?

Options :

1. * Type-A
2. % Type-B
3. ¥ Type-C
4. % Type-D

Question Number : 178 Question Id : 59445940576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JPR-A
2. % YJhRR-B
3. ¥ JhR-C
4. % JbR-D

Question Number : 179 Question Id : 59445940577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which stage of Psychosexual development occurs before the onset of puberty and is marked by the dormancy of the libido?
Options :

1. # Genital

2. ¥ Latency



3. # Phallic
4, % Anal

Question Number : 179 Question Id : 59445940577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Siffed

2. ¢ At

3. % icid

4, % UAd

Question Number : 180 Question Id : 59445940578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Sullivan’s theory of personality, the seven stages of development are called developmental
Options :

1. # mechanism

2. % personifications
3. % zones

4. ¥ epochs

Question Number : 180 Question Id : 59445940578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 59445940579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Experiences that are impossible to put into words or to communicate to others are called



Options :

1. # syntaxic
2. % parataxic
3. % prototaxic

4. # dynamism

Question Number : 181 Question Id : 59445940579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % RicfRre

2. % el

3. ¥ iciciads

4. % SIS

Question Number : 182 Question Id : 59445940580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yoga means maintaining the evenness of mind which is known as , for the efficient performance of work.

Options :

1. # purushav

2. ¥ samatvam

3. # dukhasamyoga viyoga

4. % karmasukausalam

Question Number : 182 Question Id : 59445940580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % qoNq

2. ¥ FHGH

3. % gqugn fagmT
4. % HHYHICH

Question Number : 183 Question Id : 59445940581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Ayurveda, balance or equilibrium which is synonymous with health is known as

Options :

1. ¥ Sama
2. % Artha
3. # Sharira
4. % Deha

Question Number : 183 Question Id : 59445940581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tgde o, IgaH a1 YradwyT ot Wy &1 94y g, & 9 I SFT ST g
Options :

1.+ gHq

2. % 3

3. % IRR

4. %G8

Question Number : 184 Question Id : 59445940582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who's theory of evolution says that we are born with the basic set of emotions and the universality studies which point to the notion of universal
emotions across cultures?

Options :
1. #* Albert Bandura



2. % Tvan Pavlov
3. % Charles Darwin
4. * John B. Watson

Question Number : 184 Question Id : 59445940582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 3fcaC Sg
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Question Number : 185 Question Id : 59445940583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which mode of pedagogy is significant since it checks the hierarchy of teacher as the giver and the student as the receiver which leads to
monologue transference?

Options :

1. ¥ Uni-directional
2. ¥ Multidirectional
3. ¥ Multidimensional
4. ¢ Bi-directional

Question Number : 185 Question Id : 59445940583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRI&TIRE BT B T i1 Heaqul § Hife I8 & B aral & U H 3R B &) Uil & 20 H 3hH &I Sradl § il ThTary
BXITORUT B 3R ST 82

Options :




1. % M-SR
2. % OISR
3. #® OfecgA=Md
4. ¥ J3-STRERMAA

Question Number : 186 Question Id : 59445940584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Charaka Sambhita calls human body as a vehicle of congruous junctions or

Options :

1. ¥ Samyogavahin
2. % Manana

3. # Nididhyasan
4. % Jnana

Question Number : 186 Question Id : 59445940584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TGAT A IRR DI FANIH 7T BT a1 Al EAIE]
Options :

1. ¢ TGTaTg-it

2. % {44

3. % e

4, % JMH

Question Number : 187 Question Id : 59445940585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an angry, impulsive response to threat or provocation more clearly tied to the frustration aggression hypothesis.

Options :
1. # Reduced aggression



2. # Active aggression
3. % Proactive aggression

4. ¥ Reactive aggression

Question Number : 187 Question Id : 59445940585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YTeh] g7 IS o o HIfda, A ufaferar g it 3if¥ies TP &U I gaT=N SehHdbdl TR 9 Il §
Options :
1. % HH 3HhTHDl
2. % TichY HTehTHDB I
3. % UGy SAThHHdl
4. ¢ Ylafhar=Rid TR

Question Number : 188 Question Id : 59445940586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name a statistical tool that quantifies the results of a group of studies.
Options :

1. ¥ Meta-Analysis

2. % Moderating Variable

3. # Gender intensifying

4. % Narrative review

Question Number : 188 Question Id : 59445940586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U G F SUHRUT BT A1 Fd13T STl 34T & GHE & URUIHI &1 A FufiRd axar g
Options :

1. ¢ HeI-TAIR™

2. % URFFIHI R




3. % fofi Tgdn
4. ® JUFTHD JHeT

Question Number : 189 Question Id : 59445940587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which gender ideology maintains that men’s sphere is work and women'’s sphere is the home?
Options :

1. # egalitarian

2. % transitional

3. ¢ traditional

4, % sexism

Question Number : 189 Question Id : 59445940587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B It AT fRARYURT g8 Al © 36 [ &1 & 1w § 3R wigensi &1 45 ;R g
Options :

1. % gHATATE!

2. % HhHUBIAH

3. ¢ IR

4, % fefiarg

Question Number : 190 Question Id : 59445940588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the gender identity that does not correspond to their biological sex but they have hormonal or surgical treatment to change their sex to
correspond with their gender identity.

Options :
1. # Intersex
2. % Transsexuals

3. # Bisexuals



4. % Homosexuals

Question Number : 190 Question Id : 59445940588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 foiTT Uga &1 11 FA1SU Sl 31 e STt & 3 -Tg! & a1 3T felfT UgaT & S 3Ot Sfd &1 dga- o o gTdHa
1 gRihd IUIR Hd

Options :

1. % Terfefit

2. ¢ URGR®

3. % IUTARTEHdl

4. % JOAMEH

Question Number : 191 Question Id : 59445940589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory has been used to explain why men suffer more than women upon widowhood?
Options :

1. # Personal Protection Theory

2. % Intrapersonal Protective theory

3. # Interpersonal protective theory

4. ¥ Interpersonal protection theory

Question Number : 191 Question Id : 59445940589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forer Rigia &1 IuanT a8 qrgm & o forar mar § for faear R gew afgenstt &t gan & ifde difsd g g2
Options :

1. % TS McaRM AR

2. % U A Uiefaed &R

3. % SO Ulefaed &Rt



4, ¢ SIS UIeaR R

Question Number : 192 Question Id : 59445940590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BMI &1 JUf U0 &1 87

Options :

1. % ST AR S

2. ¥ SISl A S8

3. % S HoRAe Sx¢He

4. % SISl HoRHe xgHe

Question Number : 192 Question Id : 59445940590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BMI stands for?

Options :

1. ® Brain Mass Index

2. ¥ Body Mass Index

3. # Brain Measurement Instrument

4. ® Body Measurement Instrument

Question Number : 193 Question Id : 59445940591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does CCRT stands for that is developed by Lester Luborsky?
Options :

1. # conflict core relationship theme

2. # core complicated relationship theme

3. ¥ core conflictual relationship theme

4. % core conflict ritual time



Question Number : 193 Question Id : 59445940591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Qe qaah | gIRT [d®RId CCRT &1 01 YU &1 82
Options :

1. % HAGAde DR RATART 4y

2. % HR BIRAbcs NaTHRMY fiF
3. ¥ DR HiUaFgsd RaHRY 4
4. % DR HACdae R3Hd <2y

Question Number : 194 Question Id : 59445940592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who's model of constructivist narrative therapy takes the client through a five-stage programme?
Options :

1. #® Luborsky model

2. ¥ Goncalves model

3. # Schafer Model

4. % Heuristic Model

Question Number : 194 Question Id : 59445940592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TITATE! HYUATESD e H1 {1 ATed aeee &I Uid-aRuid HRIHhH & AT I 3T o STl 82
Options :

1. % QaRD Aled

2. ¢ THBIeay Higd

3. % YW AlSA

4. % gORRE® Aied




Question Number : 195 Question Id : 59445940593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the process that is used in Narrative therapy by which the therapist helps a client to see that they are separate from their perceived
character traits.

Options :

1. % Deconstruction
2. ¥ Externalisation
3. % Expression

4. % Internalisation

Question Number : 195 Question Id : 59445940593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 UfehaT BT 19 IaTsU oG] ST HYATHS Fferdn & forar sirar 8 forae g1 fifeds sage Pl ag sa T A Aeg aig fb a
3 BT TR TN T ST B

Options :

1. % SlhigarH
2. ¢ STEIHRUI

3. % 3ff¥eafaq
4. % JdRBH

Question Number : 196 Question Id : 59445940594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which therapy works by helping clients deconstruct unproductive stories in order to reconstruct new and more productive ones?
Options :

1. ¥ Narrative therapy

2. # Cognitive therapy

3. % Art Therapy

4. % Play Therapy



Question Number : 196 Question Id : 59445940594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIF I i aase &I 7% 3R 31w IdTed Helal & GAHH g SIIad Hel-dl & [duied B H Aag Bl 87

Options :

1. ¢ HYTHS Fafear
2. % JH g ITAR
3. % Sy fafedn

4. % Wd fafee

Question Number : 197 Question Id : 59445940595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which phase in Goncalves model of constructivist narrative therapy aims to increase the client’s awareness of his or her inner experience?
Options :

1. # Phase 5: Projecting Narratives

2. # Phase 2: Objectifying Narratives

3. % Phase 4: Metaphorizing Narratives

4. ¥ Phase 3: Subjectifying Narratives

Question Number : 197 Question Id : 59445940595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT} qUiFTae fafded & TidbTeay Aled & by IRUl HT T AEH Bl U SHTARD 3IHT & IR | SRl d¢HT &7
Options :

1. % TROT 5: UoifaeT Rfesy

2. % TROT 2: fIeaAfGeHIRT R

3. % W4:ﬁ?®ww

4. ¥ TROT 3: Yoo GCTHIIRNT ~Rfeod

Question Number : 198 Question Id : 59445940596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which period of adolescence is characterized by growth in emotional autonomy and increasing detachment from family?
Options :

1. % pre-adolescence

2. # early adolescence

3. ¥ middle adolescence

4. * Jate adolescence

Question Number : 198 Question Id : 59445940596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R RIRTARIT &1 D1 AT Al FATHIES Wil H gl 3R TRAR ¥ Sed 3Ad &1 =T g7
Options :

1. ® qd fpmRmaR

2. % YRINSD foheRrawyl

3. ¢ A fhaRTaRT

4. % faciferd foremRraR

Question Number : 199 Question Id : 59445940597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the act of intentionally causing harm to others, through verbal harassment, physical assault, or other more subtle methods of coercion such
as manipulation?

Options :

1. ¥ Bullying

2. ¥ Molestation
3. ® Sexual Abuse

4. % Physical attack

Question Number : 199 Question Id : 59445940597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Aifge Ialted, ARG ARUIE, J1 SIS ol 3T Y& dRId! & HTHH I STHGHR GERI B JHIH UgdH & B b A1 Fard?
Options :

1. ¢ SA-YHDF]

2. % HSBTS

3. % T Qo

4. % RIS ghal

Question Number : 200 Question Id : 59445940598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During adolescence, the young person grows in height, weight and strength, develops sexually, and changes in appearance. Name the category of
change.

Options :

1. % Sexual changes

2. ¥ Physiological changes
3. ¥ Emotional Change

4. # Cognitive change

Question Number : 200 Question Id : 59445940598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fHRIRTaRIT & GRM, JaT Afdd $HaTs, HR 3R ddd # gia Hd1 8, T U I fIHM $Hd1 § 8fR ®0 H uRad= &xdr g | Racd o guft
BT ATH Id18T|
Options :

1. % g gRada
2. ¢ RIS uRada
3. % GATHTHS URadd

(o

4. % IGIFTHES GRad
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Question Number : 201 Question Id : 59445940599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which hormone is responsible for producing androgen male hormone in the Leydig cells?
Options :

1. * Antidiuretic hormone

2. % somatostatin

3. # Follicle Stimulating Hormone

4. ¥ Luteinizing hormone



Question Number : 201 Question Id : 59445940599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®IF T gTHM ST HIRB131 & TS Yoy T & Il & fod forfeR 82

Options :

1. % g errRfe® g

2. % FHCReeA

3. % Bifeidhel RIS g

4. ¥ gfeARIST g

Question Number : 202 Question Id : 59445940600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which approach the adolescence alternate between blind faith in some authority and doubting everything?
Options :

1. ¥ Dogmatism-skepticism

2. ® Postskeptical rationalism

3. % relativist approach

4. ¥ realist approach

Question Number : 202 Question Id : 59445940600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b IurTH H for=iRTa fobeit SifepR # 3ie fayy 3R 8% 1l IR Hag P b o<l ThTR Bl 52
Options :

1. ¢ SIHfCTH-IBPRH

2. % URTRI dehale

3. % YIYTHD IUTTH

4. % gYATgl IURTH




Question Number : 203 Question Id : 59445940601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of parents are high in responsiveness but low in demandingness?
Options :

1. * Rejecting parents

2. ¥ Permissive parents

3. # Neglecting parents

4. % Authoritative parents

Question Number : 203 Question Id : 59445940601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
for UHR & AT STaradg! # S IR | $H3 H &4 gid 82
Options :

Question Number : 204 Question Id : 59445940602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a pattern in which bicultural or multicultural children combine their different identities into one.
Options :
1. # Identity moratorium
2. # Identity foreclosure
3. ¥ Identity Fusion

4. ¥ Identity achievement

Question Number : 204 Question Id : 59445940602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TH U & o g fas a1 sgaie e g 3o fafia uga i & T d Sisd ] |

Options :

1. % UgdH IR
2. % UgdH RI§Y

3. ¥ UgAH WS

4. % UggdH Iudfsd

Question Number : 205 Question Id : 59445940603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the therapy that focuses on educating the child regarding the inappropriateness of their behaviour.
Options :

1. # Psychoanalysis

2. # Interpersonal Therapy

3. % Cognitive Behavioural Therapy

4. # Psychotherapy

Question Number : 205 Question Id : 59445940603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 ffeb e 1 14 FATST Sff S bl S1ch FAAGR 1 SIUYIcl b SR H R B W bfeiel 5
Options :

1. % gfq=eyor

2. % URWR® fefdd

3. ¢ TS AdgRdrc! fefd e

4. % OB

Question Number : 206 Question Id : 59445940604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the primary task of the counselor is to provoke the client about his/her past immediate experiences.
Options :

1. ¥ Self assessment

2. # Self efficacy

3. % Self monitoring

4. % Self defeating behaviour

Question Number : 206 Question Id : 59445940604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T RERETdr &1 WUfie S FaRe &l 39 U didbliad gyal & IR & Iafold 1 g |
Options :
1. ¢ 3MTH AT
2. ® 3TH YHTGDIRAT
3. % W-[ATRE
4. % ITH-URIIT FdER

Question Number : 207 Question Id : 59445940605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Association for therapy, is a national professional society established in 1982, estimates that it takes about 20 sessions to address
a child’s problems, but some children may require more or fewer sessions.
Options :

1. #* Counselling
2. % Role Play

3. # Art Therapy
4. ¥ Play Therapy

Question Number : 207 Question Id : 59445940605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferfoream & forg TIfcr, 1982 H RAFUT IFTA URIGR THIS 5, oTIDT 3FHM ¢ o6 I &1 THnsfl Bl g HRA | TRIHT 20 T AT
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Options :

1. % IR

2. 8 AW

3. % Sl fafdba

4. ¢ Wd Fafea

Question Number : 208 Question Id : 59445940606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which term is derived from Greek mythology that means enduring?
Options :

1. ¥ Mentoring

2. ®* Guiding

3. #* Influencing

4. % Planning

Question Number : 208 Question Id : 59445940606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T g, e URTIOTS dwarait I feram an § foraet o § fewras?
Options :

1. ¢ TRTERIGT

2. % ARfeRis

3. % gHIdd

4. % YIS ST

Question Number : 209 Question Id : 59445940607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which phase of coaching , the manager makes commitments to provide the specific support to employee for development?



Options :

1. # Rapport phase

2. % Action planning phase
3. % Exploration phase

4. ¥ Acceptance phase

Question Number : 209 Question Id : 59445940607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3101 & ford TRUT H, Ueesh HHAR! B! [ /g [ARIY Wi UaH &R & ol Ufdegd odl 82
Options :

1. % qIIHd IROT
2. ¢ BRI G TROT
3. % 3[QVUT TRUT

4. % Iipld TROT

Question Number : 210 Question Id : 59445940608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the process of helping the employee to grow and develop in the organisation.
Options :

1. #* Influencing

2. % Questioning

3. ¥ Coaching

4. % Mentoring

Question Number : 210 Question Id : 59445940608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 B HHAR! B gfg R 3R B RIT I T Heg B D1 Ufehan ST AW Farsu|
Options :




1. % gyrfad
2. % UYTAD

3. ¥ 3RO
4. % QRTHICTAT

Question Number : 211 Question Id : 59445940609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of questions during counselling encourages creativity, a tendency to explore several directions which have been neglected so far?
Options :

1. ¥ Open Question

2. % Empathic Question

3. # Helpful Question

4. % Trusting Question

Question Number : 211 Question Id : 59445940609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WRIR! & SR o UHR & Y IRl DI Hdlied B 6, Bs (GRS 6T Udl T &1 Ugid o 3@ de Iutaid foam g2

Options :

1. ¢ T (31U) Uy
2. % FeTIYfaqul Uy
3. % IUAET Uy

4. % oyt oy

Question Number : 212 Question Id : 59445940610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the problem in which a part of the body moves repeatedly, quickly, suddenly and uncontrollably.
Options :

1. % Conduct



2. # Attention Deficit Hyperactivity Disorder
3. ¥ Tic

4. ¥ Huntington's Disease

Question Number : 212 Question Id : 59445940610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T &7 ATH FATs ford TRR H1 H1s 3 TR-8R, o, 3aM® R SaHd ©u d Badr g
Options :

1. % 3R

2. % MG U4 Sifaafhddm f[deR

3. feh

4. % GACTCA

Question Number : 213 Question Id : 59445940611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is usually diagnosed when a child has a persistent or consistent pattern of disobedience and hostility toward parents, teachers, or
other adults.

Options :

1. ¥ Oppositional Defiant Disorder

2. # Childhood Disintegrated Disorder
3. ® Pervasive Development Disorder
4. ¥ Conduct Disorder

Question Number : 213 Question Id : 59445940611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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T g gl
Options :

1. ¢ faueft 35 fapR



Question Number : 214 Question Id : 59445940612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which disorder is an X-linked dominant neurological disorder that affects only girls and is one of the most common causes of mental retardation
in females?

Options :

1. # Inherited Disorder

2. ¥ Rett's Disorder

3. % Autism Spectrum Disorder

4. % Attention Deficit Hyperactive Disorder (ADHD)

Question Number : 214 Question Id : 59445940612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I faBR X-S §U UHE difeh] st fadbR 8 Sl bhad dsidhdl il GHIdd Bl & 3R Afgeall § AR Hadl & Jad JH
HRON A Y TH g2

Options :

|. % ORITd fdPR

2. ¥ REfdpR

3. % WAd Waed fdbR

4. % FHIYTE U4 3ffddihdal fdbR (ADHD)

Question Number : 215 Question Id : 59445940613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Dr. Hans Asperger, an Austrian pediatrician, first described Asperger Syndrome's condition?
Options :

1. % 1924



2. % 1934
3. ¥ 1944
4. % 1954

Question Number : 215 Question Id : 59445940613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST, 8 3RUTR, 3HiReg= o1at AT fa=iog A fog av H, Ugell IR TR Ga&uT a7 o1 guiH o uT?
Options :

1. % 1924

2. % 1934

3.9 1944

4. % 1954

Question Number : 216 Question Id : 59445940614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which disorder is known as Heller’s syndrome, a condition in which children develop normally until ages 2 to 4, but then demonstrate a severe
loss of social, communication and other skills?

Options :

1. # Inherited Disorder

2. % Attention Deficit Hyperactivity Disorder
3. % Pervasive Development Disorder

4. % Childhood Disintegrated Disorder

Question Number : 216 Question Id : 59445940614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % G fabR




2. % TG Td 3ffagfehadT [dbR
3. % & [dHg fdBdR
4. ¢ grcaraRy fagfed fasR

Question Number : 217 Question Id : 59445940615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Landau-Kleftner Syndrome is also known as acquired
Options :

1. ¢ epileptic aphasia

2. # Down syndrome

3. # Andersen-Tawil syndrome

4. % Wolf-Hirschhorn syndrome

Question Number : 217 Question Id : 59445940615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

del-aamR RigH &l TEid (3FTds) & w0 H Hft ST ST |
Options :

1. ¢ foRT arITeTd

2. % g3 RigH

3. % UeyH-dfad Rigm

4. % gotp-fRiH RigH

Question Number : 218 Question Id : 59445940616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a developmental disorder that is characterised by impaired development in communication, social interaction, and behaviour.
Options :
1. ® Asperger Syndrome
2. % Rett's Disorder



3. ¥ Autism
4. # Attention Deficit Hyperactive Disorder (ADHD)

Question Number : 218 Question Id : 59445940616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fapTTeTs faeR § e TaR, Wi Wud 3R agR & WR1E fasr ot faRvar g |
Options :
1. % TIOTR aefor
2. % Re fapr
3. ¢ WA
4. % FHIYTE U4 3ffd9ihdal fdbR (ADHD)

Question Number : 219 Question Id : 59445940617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are minor events of everyday life that cumulatively can affect psychological well-being.

Options :

1. % Anxiety

2. ¥ Hassles

3. % Stressors

4. % Appraisals

Question Number : 219 Question Id : 59445940617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % fIdr
2. ¢ STyTadi
3. % W



4. % IHA

Question Number : 220 Question Id : 59445940618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the scale that has a wide range of everyday events, such as having too many things to do at once, shopping and concerns over money and is
designed by Kanner et al.

Options :

1. # Person Environment Fit
2. ¥ Hassles

3. % Self Determination

4. % Inflection

Question Number : 220 Question Id : 59445940618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fd ugiaRur fibe

2. ¥ SISl

3. % 3R

4. % fqufe
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Question Number : 221 Question Id : 59445940619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the viral disease that reduces the immune system's ability to defend the body against the introduction of foreign substances.
Options :

1. ¥ HIV

2. % Measles

3. ¥ AIDS

4. % Hepatitis A

Question Number : 221 Question Id : 59445940619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # HIV
2. % WG
3. ¥ AIDS

4, % gUCTSieT A

Question Number : 222 Question Id : 59445940620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name a class of neurotransmitters that play an important role in the sympathetic nervous system.
Options :

1. # lymphocytes

2. # antigens

3. % carcinogens

4. ¥ catecholamines

Question Number : 222 Question Id : 59445940620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GCIAHICY & Teb | BT A1 Jd13U Sl Y deT d H Hea@yu 4fHe! Furd 8

Options :

1. % AHIPIY] ((@HIRCY)
2. % UdeH

3. % PRI

4. ¢ FHeAA3MIEZ

Question Number : 223 Question Id : 59445940621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which technique people learn to relax by alternating flexing and relaxing, one by one, muscle groups throughout the body?
Options :



1. ¥ Progressive Relaxation
2. # Physiological coping technique
3. % Behavioural coping technique

4. ® Cognitive coping technique

Question Number : 223 Question Id : 59445940621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg dopicp & A QX YRR | AU & Tg! &1 IRI-IR J, TH 916 Th HISH 3R TG ddh [99TH H-T 9had 62
Options :

1. ¢ garfaeiie fagmd

2. % YRING WRadl db-ih

3. % HAgRUD RS db-ldh
4. % GIMTHD RSl db-ih

Question Number : 224 Question Id : 59445940622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In , dreaming expresses repressed sexual desires.

Options :

1. ¥ Psychoanalysis
2. # Psychodynamic
3. # Psychosexual
4. ® Psychotherapy

Question Number : 224 Question Id : 59445940622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ guq 3 ofid O 318l o) odad RaT g
Options :

1. ¢ TAIfaRAYT




2. % FART®T
3. % OGRS
4. ® ARG

Question Number : 225 Question Id : 59445940623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are a by-product of the sleeping process.
Options :
1. # Fantasy
2. % Vision
3. # Reality
4. ¥ Dreams

Question Number : 225 Question Id : 59445940623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dcUAl

2. % faoH

3. ® gRAfdH

4.« U

Question Number : 226 Question Id : 59445940624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage of sleep the body grows more relaxed and a loud noise would be needed to rouse the sleeper?
Options :

1. % Stage One

2. % Stage Two



3. % Stage Three
4. # Stage Four

Question Number : 226 Question Id : 59445940624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # =RUTUh

2. % UG

3. ¢ IO

4, % TRUTAR

Question Number : 227 Question Id : 59445940625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
REM stands for?

Options :

1. % Repeated Eye Movement

2. % Rapid Ear Movement

3. ¥ Rapid Eye Movement

4. % Recurring Eye Movement

Question Number : 227 Question Id : 59445940625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
REM &1 JUf U0 &1 52

Options :

1. ® RfUCs 38 gade

2. % TS TR HaHe

3. ¢ TS 318 gadic



4. ® R oE qade

Question Number : 228 Question Id : 59445940626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be defined as a systematic collection of facts about the client’s present and past life?
Options :

1. % Readiness

2. ¥ Case History

3. # Counter Will

4. % Counter Transference

Question Number : 228 Question Id : 59445940626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qaRdr

2. ¢ Hfdd I (b9 T

3. % Ufddpd w1 (3R fad)

4. % Yfdhd SIRUN (B3R TEAI)

Question Number : 229 Question Id : 59445940627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the chief proponent of the client centered approach?
Options :

1. # Albert Bandura

2. % Otto Rank

3. % Carl Jung

4. % Carl Rogers



Question Number : 229 Question Id : 59445940627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P algC Pivsd SUNTH P HB UIdIdd YT?
Options :

1. % 3fcdc 9

2. % P

3. % HId g

4. BT Aoy

Question Number : 230 Question Id : 59445940628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of counselling approach the counsellor bases his/her counselling on concepts taken from various available viewpoints and owes no
specific theoretical allegiance?

Options :

1. ¥ Eclectic

2. % Central Hypothesis
3. # Directive

4. % Non-directive

Question Number : 230 Question Id : 59445940628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ I9g90d (Vi)

2. % DIy RSB

3. % fe=IdS

4. % IRATHD




Question Number : 231 Question Id : 59445940629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which step of direct counselling predicts the future course of development of the counselee’s problem in the light of conclusions as made earlier?
Options :

1. % Synthesis

2. # Diagnosis

3. % Prognosis

4. # Analysis

Question Number : 231 Question Id : 59445940629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y& TRTHT &1 I T IR0T Ugd fpU 7T Fsmuf & 3ielies & WRIARi &1 g7 & fae & Hidwr & uregshd ot Hidsaroft #rdr g2
Options :

1. % g

2. % fAeM

3. YT

4. % oo

Question Number : 232 Question Id : 59445940630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which guidance is primarily concerned with the problems related to courses, curriculum and study?
Options :

1. % Career

2. % Vocational

3. ¥ Educational

4. % Personal-social



Question Number : 232 Question Id : 59445940630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I (HRI)

2. % TAI® (JIHRA)
3. ¢ fRued® (T RH)

4. % fEITI-GHING (THTd-TIRE)

Question Number : 233 Question Id : 59445940631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who believes that its the inherent need for security of an individual which propels him to either move towards, against or away from people?
Options :

1. # Helen Thompson Woolley

2. % Mary Ainsworth

3. # Anna Freud

4. ¥ Karen Horney

Question Number : 233 Question Id : 59445940631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % go YO gt

2. % T T

3. % AT WIS

4. BTG

Question Number : 234 Question Id : 59445940632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which concept of adjustment emphasizes meditation and yogic practices to enhance self discipline and concentration by focusing on the flow of
the thought?

Options :

1. ¥ Indian

2. # Portugese
3. # Dutch

4. # English

Question Number : 234 Question Id : 59445940632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ YRd™

2. % Yot

3. % 59

4. % 3

Question Number : 235 Question Id : 59445940633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which mechanism may be defined as any habitual method of overcoming blocks, reaching goals, satisfying motives, relieving frustration and
maintaining equilibrium?

Options :

1. # Organic

2. ¥ Adjustment

3. * Inorganic

4. % Maladjustment

Question Number : 235 Question Id : 59445940633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HEHD

2. ¢ UGS

3. % JHEH
4. % UHIISH

Question Number : 236 Question Id : 59445940634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I spend a lot of time with him because we take the same course." Which type of defense mechanism is this?
Options :

1. # Denial

2. # Reaction Formation

3. # Fantasy

4. % Rationalisation

Question Number : 236 Question Id : 59445940634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® gAPR

2. % yfdfear me

3. % Ul

4. ¥ a0l

Question Number : 237 Question Id : 59445940635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What refers to actually running away from an anxiety inducing situation?
Options :

1. ¥ Truancy

2. # Distorting

3. % Repressing

4. # Falsifying

Question Number : 237 Question Id : 59445940635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ T3

2. % fagpd

3. % QdIIl

4. % GIBI B

Question Number : 238 Question Id : 59445940636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to whom adjustment or maladjustment should not only be viewed in terms of what an individual is going through at present, rather
than what happened to him in his early childhood is even more important?

Options :

1. # Alfred Adler
2. ® Carl Jung

3. % Sigmund Freud
4. % Otto Rank

Question Number : 238 Question Id : 59445940636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 239 Question Id : 59445940637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Super’s theory of career development, which stage refers to girls and boys considering the feedback they receive from environment i.e.,
school, parents, teachers and peers?

Options :

1. # Growth

2. % Exploration
3. % Evaluation

4. % Maintenance

Question Number : 239 Question Id : 59445940637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qR & BRI f[GHr & Rigid T, DI 1 IR0 aSfhal 3R TSd! B Aafid Hdl § Sl ardraRul ¥ Ui ufdferar W faaR & §
foerer, Arar-fidn, e ik A

Options :

1. % faerg

2. ¢/ 3N
3. % gich
4, % IWRYIG




Question Number : 240 Question Id : 59445940638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A hexagonal model was developed to illustrate the relationship between personality and occupational environment in Holland's Career Typology.

Options :

1. # pentagonal
2. % hexagonal
3. # octagonal

4. % heptagonal

Question Number : 240 Question Id : 59445940638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

glds & BRI Aisd H Afddd R GRS arararur & oia e & Wy B & forw veyforr nisa fawRid forar mar

Options :
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Question Number : 241 Question Id : 59445940639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who's theory views the whole range of occupations in terms of their relationship to individual, differences in backgrounds, physical and
psychological variable and experiences?

Options :

1. ¥ Anne Roe

2. % Donald Super
3. % John Holland
4. * Eli Ginzberg

Question Number : 241 Question Id : 59445940639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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?

Options :

1. T




2. % ZHIeS IR
3. % S glds
4. % Tl Feorert

Question Number : 242 Question Id : 59445940640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which environment of Holland's model encourages and rewards success in risk taking, work intensive and innovative activities and values?
Options :

1. # Social environment

2. % Realistic environment

3. ¥ Enterprising environment

4. # Investigative environment

Question Number : 242 Question Id : 59445940640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TSI dIdqraxol

2. % gYTIaTe! ardravul

3. ¢ IR dTaraRul

4. % STHYTIY ARl

Question Number : 243 Question Id : 59445940641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory is structural — interactive in nature, provides explicit links among various personality characteristics and corresponding job titles?
Options :

1. # Theory of Career Development

2. % Theory of Vocational Personalities and Work Environment



3. % Theory of Personality Development and Career Choice
4. # Theory of Social Learning

Question Number : 243 Question Id : 59445940641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BRI fawmg &1 Rigia

2. « YIRS Hfaad 3R BT aTdTaRur &1 fRigia

3. % HAfadd 9B 3R BRI fadwey o1 Rigid

4. % QTS SR &1 Rigid

Question Number : 244 Question Id : 59445940642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which style is a traditional method of resolving conflicts and characterized by finding the middle ground and bargaining?
Options :

1. ¥ Compromise

2. # Collaboration

3. # Co-operation

4. % Competition

Question Number : 244 Question Id : 59445940642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ GOl

2. % g

3. % YgPR




4. % gfqaira

Question Number : 245 Question Id : 59445940643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the oldest form of relaxation known to mankind?
Options :

1. # Sports

2. # Karate

3. % Exercise

4. ¥ Prayer

Question Number : 245 Question Id : 59445940643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % @d

2. % IRIC

3. % AUH

4. YT

Question Number : 246 Question Id : 59445940644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is known as changing bad behaviour or doings into good ones?
Options :

1. # Repression

2. % Sublimation

3. ¥ Regression

4. % Displacement



Question Number : 246 Question Id : 59445940644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % cHdq

2. ¢ JaRIARU

3. % T

4. % fowro

Question Number : 247 Question Id : 59445940645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which method is known as defending your self-esteem or self-worth by blaming your failures on others?
Options :

1. ¥ Projection

2. # Fantasy

3. % Denial

4. % Rationalisation

Question Number : 247 Question Id : 59445940645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Y&

2. % DdUAl

3. % bR

4. % GfoRIpUT




Question Number : 248 Question Id : 59445940646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of personality does a person have if they are flexible, willing to change their opinions, techniques and schedules for others?
Options :

1. # Type-A

2. % Type-C

3. % Type-D

4. ¥ Type-B

Question Number : 248 Question Id : 59445940646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % THR-A

2. % JhR-C

3. ®# JhR-D

4. ¥ JhR-B

Question Number : 249 Question Id : 59445940647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Charles Spearman, an English psychologist, established the two-factor theory of intelligence and to arrive at this theory, he used a technique
known as

Options :

1. % G factor

2. ¥ Factor Analysis
3. # S factor

4. ¥ Multiple Factors

Question Number : 249 Question Id : 59445940647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GHRD

2. ¥ BRS faZAwur

3. % SHR®

4. % GG IRD

Question Number : 250 Question Id : 59445940648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Wechsler Intelligence Scale for Children (WISC) is an IQ test designed to measure intelligence and cognitive ability in children between the
agesof 6and .

Options :
1. % 13
2. % 14
3.¥ 16
4, % 15

Question Number : 250 Question Id : 59445940648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 13

2. % 14

3. 16

4, % 15




Question Number : 251 Question Id : 59445940649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who first proposed the concepts of fluid and crystallized intelligence in 1963 and further developed the theory with John Horn?
Options :

1. ¥ Charles Spearman

2. % Raymond Cattell

3. ¥ Howard Gardner

4. # Robert Sternberg

Question Number : 251 Question Id : 59445940649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT 1963 7 T UgQ IR 3R 31 g D1 AR &1 AT T 3R i1 814 o A1y R id o1 3m faewRia faram
Options :

1. % e TWRREE

2. ¢ S Hed

3. % gas MeR

4. % g T

Question Number : 252 Question Id : 59445940650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the ability that individuals use to solve problems faced in daily life, when a person finds the best fit between themselves and
the demands of the environment.

Options :

1. ¥ Practical Intelligence
2. ® Creative Intelligence
3. # Analytical Intelligence
4. % Spatial Intelligence

Question Number : 252 Question Id : 59445940650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TagIR® §fGHTl
2. % JGAHS JfGHT

Question Number : 253 Question Id : 59445940651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory is based on the definition of intelligence as the ability to achieve success based on your personal standards and your sociocultural
context?

Options :

1. ¥ Two factor Theory

2. # General Intelligence

3. % Multiple Intelligence

4. % Triarchic Theory of Intelligence

Question Number : 253 Question Id : 59445940651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % glpR® Rgid

2. % O g

3. % §g-yfqur

4. gfg &1 R Rigia




Question Number : 254 Question Id : 59445940652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many primary mental abilities are there in Thurstone's model?
Options :

1. # five

2. % six

3. ¥ seven

4. * four

Question Number : 254 Question Id : 59445940652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA P Hred T fobe=it UTfies AR & 82
Options :

1. % U9

2. % Bo

3. ¢ Id

4, % IR

Question Number : 255 Question Id : 59445940653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® GRS Rigid

2. % gfg BT Ranfdbe Rigid

3. % UG ia Rigid

4. ¢ gfg DI G

Question Number : 255 Question Id : 59445940653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What defines intelligence as a systematic collection of abilities or functions for processing different kinds of items of information in various
ways?

Options :

1. # Two factor Theory

2. % Triarchic Theory of Intelligence

3. # Hierarchic Theory

4. % Structure of Intellect

Question Number : 256 Question Id : 59445940654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of intelligence cosmologists and philosophers have?
Options :

1. ¥ Existential

2. # Spatial

3. # Kinesthetic

4. % Naturalistic

Question Number : 256 Question Id : 59445940654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ &I

2. % WS

3. % fobarcadh e

4. % YIPpidd

Question Number : 257 Question Id : 59445940655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
are the executive functions to order and organise performance and knowledge acquisition components.

Options :

1. # Knowledge components
2. % Performance Components
3. ¥ Metacomponents

4. % Acquisition components

Question Number : 257 Question Id : 59445940655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® JEYCH

2. % e Uch
3. ¢ BerhUHCY
4. % 3G gD

Question Number : 258 Question Id : 59445940656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Guilford’s three dimensional theory of intelligence, how many operations does construction of intellect includes?
Options :

1. % five

2. ¥ six

3. #® seven

4. % four

Question Number : 258 Question Id : 59445940656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % U
2. ¥ 8o
3. % YId
4, % IR

Question Number : 259 Question Id : 59445940657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which book of Howard Gardner was published in 1983?
Options :

1. # Totem and Taboo

2. # Project Zero

3. # The Shattered Mind

4. ¥ Frames of Mind

Question Number : 259 Question Id : 59445940657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gIds TMe-R &1 I Il JXIdh 1983 H UH1RId g3 o
Options :

|. % AATS g

2. % Jiolde SIRT

3. % GXcs ARS

4. T 31 WSS

Question Number : 260 Question Id : 59445940658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who believed that intelligence was not a monolithic, global attribute but a combination of multiple abilities, which were relatively independent?
Options :



1. # J.P. Guilford

2. # Charles Spearman
3. % Laurence Steinberg
4. % Howard Gardner

Question Number : 260 Question Id : 59445940658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 9. U1 fiawlis

2. % IR WA

3. % ARY e

4. % s MR
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Question Number : 261 Question Id : 59445940659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following advocated his viewpoint by arguing that g-factor is manifested in behaviour in a number of ways and can be tested by
almost unlimited variety of conceptually independent items?

Options :

1. % Charles Spearman

2. % Arthur Robert Jensen
3. % Alfred Binet

4. % Robert Sternberg

Question Number : 261 Question Id : 59445940659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I ToRET
2. ¢ MW e =
3. % 3[ahs forc

4. % I T




Question Number : 262 Question Id : 59445940660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on seven primary factors, Thurstone constructed a new test of intelligence known as Test of

Options :

1. # Primary Multi-factor Abilities
2. % Primary Mental Attitude

3. # Primary Mental Aptitude

4. ¥ Primary Mental Abilities

Question Number : 262 Question Id : 59445940660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U dg-HRb &HdT

2. % yreftves W SR

3. % Ui AHRID SifHemd

4. ¢ YIYiHeh AHRID &HATY

Question Number : 263 Question Id : 59445940661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who's description of different levels of intelligence may fill the gaps between two extreme theories, the two-factor theory of Spearman and the
multiple-factor theory of Thurstone?

Options :

1. ¥ Phillip Ewart Vernon
2. # Charles Spearman
3. % Laurence Steinberg
4. % Howard Gardner

Question Number : 263 Question Id : 59445940661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fopferg sa¢ g
2. % gred TR
3. % ARY WA

4. % gIdS MR

Question Number : 264 Question Id : 59445940662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By whom was the term ‘mental test’ first used in the psychological literature?
Options :

1. #* Phillip Ewart Vernon

2. # Sir Francis Galton

3. % Alfred Binet

4. ¥ James McKeen Cattell

Question Number : 264 Question Id : 59445940662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fpferg $ac g

2. % TR BRI Tee

3. % 3cbs fo

a\ EN N L\
4. ¢ SR Hp[h-

Question Number : 265 Question Id : 59445940663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The SBS is used to assess intellectual ability in individuals between the ages of two and 89 years, is individually administered, and contains
subscales.

Options :
1. = 11
2. % 12
3.4 10
4. % 14

Question Number : 265 Question Id : 59445940663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% 11

2. % 12

3.¢ 10

4. % 14

Question Number : 266 Question Id : 59445940664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Initial state, goal state and operator of problem solving combines to form the
Options :

1. * original space

2. % problem space

3. ®* end state

4. * person

Question Number : 266 Question Id : 59445940664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g R

2. JHET ™M

3. % 3fd AT

4. % fad

Question Number : 267 Question Id : 59445940665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Problems of require determining relationship among several elements of the problem.

Options :

1. ¥ inducing structure
2. # transformation

3. ® arrangement

4. ¥ re-arrangement

Question Number : 267 Question Id : 59445940665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ IR0 T
2. % gRadq
3. #® dyl
4. % TF: SIGRIT

Question Number : 268 Question Id : 59445940666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HFATHD AT

2. % UATUH

3. % SENNET

4.« 3THH

Question Number : 268 Question Id : 59445940666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are general suggestions or “rules of thumb” that are useful in solving a variety of problems?
Options :

1. # Creativity

2. # Anagram

3. % Algorithm

4. ¥ Heuristics

Question Number : 269 Question Id : 59445940667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which skill helps to see problems in new ways and to escape the bounds of conventional thinking?
Options :

1. # contextual

2. ¥ synthetic

3. # analytical

4. ¥ practical

Question Number : 269 Question Id : 59445940667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hedag3fd
2. ¢ HEH

3. % foRdvuTdS
4. % HAGIRD

Question Number : 270 Question Id : 59445940668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which aspect of creativity shows the number of statistically infrequent ideas and an ability to produce uncommon or unique responses?
Options :

1. #® Fluency

2. # Flexibility

3. ¥ Originality

4. % Elaboration

Question Number : 270 Question Id : 59445940668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Ydig

2. % qafddhdr

3. ¢ Wfeidbal

4. % faR

Question Number : 271 Question Id : 59445940669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who had conducted a “Field Experiment on Curbside Recycling” in the year 1999 to observe participants curbside recycling behaviour for 17
weeks with different interventions?



Options :

1. ¥ P. Wesley Schultz
2. % Ellis Herwig

3. # Gregory Razran

4. % Dennis Duncan

Question Number : 271 Question Id : 59445940669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Ol % Yoy
2. ® Ui gRfaw
3. % PRI TORME
4. % AP

Question Number : 272 Question Id : 59445940670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Solomon E. Asch did the most influential study of conformity?
Options :

1. # 1915

2. % 1951

3. % 1961

4. % 1916

Question Number : 272 Question Id : 59445940670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % 1915
2. % 1951
3. % 1961
4. % 1916

Question Number : 273 Question Id : 59445940671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which technique is a persuasion method?
Options :

1. # Ingratiation

2. # Foot-in-the-door technique

3. ¥ Door-in-the-face

4. % Low in the Ball

Question Number : 273 Question Id : 59445940671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HH- 1 Uit fafd g2
Options :

1. % STUCRH

2. % BHI-39-G-8R qh-ild

3. ¥ SR-37-G-BY

4. % ATl

Question Number : 274 Question Id : 59445940672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the process by which an individual’s attitudes, beliefs, and behaviours are conditioned by what is conceived to be what
other people might perceive.

Options :
1. # Obedience



2. % Competence
3. % Compliance
4. ¥ Conformity

Question Number : 274 Question Id : 59445940672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ST
2. % PHICH
3. % 3{JUTe
4. SHIRGT

Question Number : 275 Question Id : 59445940673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is how close the group is in time and space when the influence is taking place.

Options :

1. # Strength
2. % Integrity
3. % Immediacy

4. % Influence

Question Number : 275 Question Id : 59445940673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % grfad




2. % 3Rgsdl

3. ¢ AT
4. % gyIq

Question Number : 276 Question Id : 59445940674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
means that each person in the target population has an equal chance of being selected in the sample.

Options :

1. ¥ random sampling

2. % gystematic sampling
3. * non-random sampling

4. % stratified sampling

Question Number : 276 Question Id : 59445940674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

4. % TRIHd THATHRU]

Question Number : 277 Question Id : 59445940675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory involves the relations between a person and two attitude object?
Options :

1. ¥ Dissonance Theory

2. % Balance Theory



3. # Three process theory
4. ® Functional theory

Question Number : 277 Question Id : 59445940675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % &= R

2. ¢ e Rigid

3. % 4 vk Ryl

4. % HIOTHES RIgid

Question Number : 278 Question Id : 59445940676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What measures the electrical resistance of the skin?
Options :

1. ¥ Galvanic Skin Response

2. # Galvanic Skin Report

3. # Galvanic Skin Result

4. ® Galvanic Skin Rights

Question Number : 278 Question Id : 59445940676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % e @d1 Rure

3. % N o uRomd




4. % Tedfe = IfBR

Question Number : 279 Question Id : 59445940677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 BIdT § O1d g Hiad YHTA DI WHR Rl § iy URd TTGR 3D ! Hed TUITel & I gIal 57
Options :

1. % U

2. % AHJUrd-

3. % Ugdld

4. ¢ JHARBHI

Question Number : 279 Question Id : 59445940677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What occurs when an individual accepts influence because the induced behavior is congruent with his value system?
Options :

1. ¥ Agreement

2. % Compliance

3. # Identification

4. % Internalisation

Question Number : 280 Question Id : 59445940678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word was first used by Walter Lipman in his book “Public Opinion™?
Options :

1. * Attitude

2. ¥ Stereotype

3. # Prejudice

4. % Discrimination



Question Number : 280 Question Id : 59445940678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % TG
2. ¥ THMI
3. % U&uId
4. % YaHId
Teaching Methodology
Group Number : 15
Group Id : 594459881
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 5944591606
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 5944591870
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 59445940679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What follows educational and pedagogical principles in a workshop?
Options :

1. % Mentoring

2. % Guiding

3. ¥ Coaching

4. % Assignment

Question Number : 281 Question Id : 59445940679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI BRI H Qe 3R R0 Rigidl ST 3aR0r ol g2
Options :

1. % g8 ¢l (Mentoring)

2. % fE® (Guiding)

3. ¢ DI (Coaching)

4. ® HUHUR (Assignment)

Question Number : 282 Question Id : 59445940680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the learning disability that has the characteristic of trouble in telling time?
Options :

1. % Dyslexia

2. ¥ Dyscalculia



3. % Language Processing Disorder

4. #% Nonverbal Learning Disabilities

Question Number : 282 Question Id : 59445940680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3UUdd

2. ¢ (Sl

3. % YTV YA f[dhR

4. % Gidbfdd HERTY farar

Question Number : 283 Question Id : 59445940681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Behavioural assessment done before starting the teaching or training programme is known as
Options :

1. ¥ Baseline assessment
2. ® Quarterly assessment
3. # Programme evaluation

4. % Semi-annual assessment

Question Number : 283 Question Id : 59445940681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ SMYRYA 3Ha

2. % JRID MHa

3. % DG i




4. % Jf-aiffep 3Mpa

Question Number : 284 Question Id : 59445940682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With appropriate adult help, children can often perform tasks that they are incapable of completing on their own. Which feature of reciprocal
learning is this?

Options :

1. % Contextual factors

2. % Assessment

3. ¥ Curriculum

4. % Instruction

Question Number : 284 Question Id : 59445940682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

1. % YT HIh
2. % 3lHhd-

3. % Uiy H

4. ¢ 3N

Question Number : 285 Question Id : 59445940683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the theory that emphasises cognition, conceptual learning, information processing, conscious experience, organising, storing and retrieving
of information, reasoning and problem solving.

Options :
1. % Behaviourist Theory
2. % Interaction Theory



3. % Schema Theory
4. ¥ Psychoanalysis
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4. % FAfILNT

Question Number : 286 Question Id : 59445940684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name a semi-technical term for language that allows communication between groups with no other common language, for example Hindi in
India, Swabhili in East Africa.

Options :

1. * Home Language
2. % Link Language

3. # Standard Language
4. % School Language
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Question Number : 287 Question Id : 59445940685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In classification system of Discipline, what refers to the condition where knowledge can be consolidated into succinct and interdependent
theoretical formulations?

Options :

1. ¥ Codification

2. % Paradigm Development
3. #% Consensus

4. % Biglan Model
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1. ¢ DISIHIU

2. % YfqdM (WRi¢TH) fabr™

3. % Fagmfd

4. % forTe Alsa

Question Number : 288 Question Id : 59445940686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a person’s internal feelings and the labels they use, such as male, female, or transgender.
Options :

1. # Gender Dynamics



2. # Gender analysis
3. % Gender equity
4. ¥ Gender identity
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2. % ifftes fazaor
3. % ol QHMT
4. ¢ iR Uga™

Question Number : 289 Question Id : 59445940687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of counselors are also known as employment counselors or career counselors who usually provide career counseling outside the
school setting?

Options :

1. # Elementary School Counselors
2. # Rehabilitation Counselors

3. % Vocational Counselors

4. ¥ High School Counselors
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Question Number : 290 Question Id : 59445940688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which curriculum is a concept that was formulated by Elliot Eisner?
Options :

1. # Hidden Curriculum

2. % Null Curriculum

3. % Latent Curriculum

4. ¥ Core Curriculum
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % 3{gge yredaf
2. ¢ [ UTSIaal

3. % 3fdied urea=al
4. % T UTUHH

Question Number : 291 Question Id : 59445940689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

are simply the number of questions or problems the student answered or solved correctly.
Options :
1. ¥ Raw Score

2. % Percentage Score



3. # (Calculated Score
4. % Standard Score
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Question Number : 292 Question Id : 59445940690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the category of apraxia where speech is slurred and difficult to understand because they are unable to enunciate.
Options :

1. % Ideomotor dyspraxia

2. % Ideational dyspraxia

3. # Constructional dyspraxia

4. ¥ Oromotor dyspraxia
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Question Number : 293 Question Id : 59445940691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the inventory that is used to measure aspects of personality that are not linked to psychological disorders.
Options :

1. # California Psychological Inventory

2. # Bell Adjustment Inventory

3. % NEO-Personality Inventory

4. # Millon Clinical Multiaxial Inventory
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Question Number : 294 Question Id : 59445940692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

drama utilises skills across the range of dramatic activity, everything from teacher-in-role to normal theatrical conventions of
audience and spectator.

Options :

1. % Spiritual

2. % Educational
3. # Competitive

4. % Historical
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Question Number : 295 Question Id : 59445940693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which technique should be allowed by a teacher in linear drama approach when the group of students are in a higher class or have attained
certain mastery that enables students to keep the excitement of learning alive?

Options :

1. ¥ Improvisation
2. # Side-coaching
3. # Spotlighting
4. % Story telling
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was initially an American term for a group of citizens that had banded together to enforce the law.
Options :
1. # Clique
2. # Squad
3. ¥ Posse
4. # Gang
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"There is a feeling of belongingness among the members of the group." Name this feature of group.
Options :

1. ¥ common interest

2. % obligation

3. ¥ sense of we-feeling

4, % gsacrifice
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In which type of group, the relationships are more or less casual and marked by common interest?
Options :

1. ¥ secondary group

2. # primary group

3. % out-group

4. # formal group
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In which stage of psychodiagnostic we collect data about the patient and his situation?
Options :

1. # Preparation

2. % Input

3. ¥ Processing

4. % Output
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Which test helps a clinician in assessing the deeper roots of problems or symptoms?
Options :

1. # Attitude

2. ® Aptitude

3. % Projective

4. % Memory
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